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= zwE—1 (UNIT - 1)

: AT 2 — 3I[¥cl, &R T oIquT
Chapter 2 - Acids, Bases and Salts
a'{:gﬁrgxrar (Objective Questions):
‘H’ﬁﬁﬁqﬂﬁa‘ (Choose the correct option):
T 1. & & T T & AR T pH - p
( O N Q. 1: The reason for tooth decay is the pH of saliva - ; =
D i< ) 3. 7 _ISAT a. Becomes 7 _\_‘;'/
k St . 6.5 BT STHET b. Becomes 6.5 -
¥. 5.5 Y HY & ST c. Becomes less than 5.5
T . 7.5 9 ATk & ST d. Becomes more than 7.5
wg 2. ffefiaa o o yerer o1t 7 2.
Q. 2: Which of the following is not a strong acid? -
3. HCI1 a. HCI
d. HNO, b. HNO;
TE—/ . CH;COOH c. CH;COOH ®
— T . H,SO, d. H,SO, 2
w1 3. e o 0 el ST e
Q. 3: Following is a weak acid -
3. HCI1 a. HCI
d. H,CO; b. H,CO;
€. H,S0, c. H,SO,
< ¢ 3. HNO; d. HNO; e



T 4. THIETH ShIH-HT 370 I1IT ST 2.

t\, N\ Q. 4: Which acid 1s found in tomatoes? -
’ 3 31, THifeeh 37 a. Acetic Acid
ERCICEIN G ) b. Oxalic Acid
T, Ik e c. Tartaric Acid
T, ®ifdeh Tt d. Formic Acid
wo1 5. e 1 O forer o St et STeef Bt 22
Q. 5: Which of the following salt has acidic nature?
H. NaCl a. NaCl
() . Na,SO, b. Na,SO,
Z4YW) 9. NH,CI c. NH,CI
&= 2. KNO, d. KNO,

T 6. 3T T ITR H oh fo78 F1 & @ forar iRy shr Su=iT grar 22

Q. 6: Which of the following medicine is used for the treatment of indigestion?

3. yfasiferen
ERCCEE|tED

g, yfderrT

a. Antibiotic
b. Analgesic
c. Antacid

d. Antiseptic

T 7. 9Ty, A | SAIHAT ek (171 1 € hi €l 9 7l 2.

T 2. e
s

Q. 7: Which gas released when metal reacts with acid -

3. BIEEISH
ERCICTISE]
. AIEISH
2. BiferH

a. Hydrogen
b. Oxygen
c. Nitrogen

d. Helium
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T 8. T o™ 7 pH A BT =,

b
C(\(\/l ]\_)"’

t\, N Q. 8: The pH value of an alkaline solution is -
> .74 st
. 79HA
q.7
<0
T4 9. T Teh YTehfcieh Gl &7 2.
Q. 9: The natural source of alkali -
3. 3AAT
( ) ERCC]
Z\J) g. THTX
T, @ 1 et
T 10 JETE T 2.
Q. 10: The chemical indicator is -
. gt
1. 88
|, A AT

a. More than 7
b. Less than 7
c.7

d. 0

a. Tamarind
b. Apple
c. Tomato

d. Baking Soda

a. Turmeric
b. Hibiscus
c. Methyl Orange

d. Juice of red cabbage leaves

T 11, GH SEATISS , AISTH TTSSIFETSE o AT SITHIRAT hich AT .

T\E/ g, AT I Mt ok

Q. 11: Sulfur dioxide, when reacts with sodium hydroxide, produces -

1. Aifeay FANEE + 5

. AT EEEIETHISS + St
. TSIy qehIse + STt

3. Gifeay 9ok + i

a. Sodium Chloride + Water
b. Sodium Hydrosulfite + Water
c. Sodium Sulfite + Water

d. Sodium Sulfate + Water
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T 12. SIS TR foRell €1q Taiie & AR LT & o 8

tcf,‘*\’l B Q. 12: When an acid reacts with a metal carbonate, it forms: I
r\lk |
’ 3. AT + STA a. Salt + Water
&, AT + ST + s SEATFES b. Salt + Water + Carbon dioxide
9. AT + FEH STEHTHTES c. Salt + Sulfur dioxide
Q. AdUT + as:c,jm«illia% A d. Salt + Hydrochloric acid
T 13. 911 €81 %1 pH %1 91 6 AT &, T8l o ST 0 §8eh pH A H -1 Fohre & wferel grerm
2l
Q. 13: Fresh milk has a pH value of 6; when it turns into yogurt, its pH value changes in ~
~ _ the following manner: \
( ) =
X A 6UFHT a. Less than 6 rd
- .6 b. 6 &
. 6 T Al c. More than 6
q.55 d.5.5
T 14. ST ok <l
Q. 14: The natural indicator is:
1. AT a. Methyl Red
. Tt 3T b. Methyl Orange
E 9. g8 c. Hibiscus 8
= T, AT d. Phenolphthalein
/' —

T4 15. STUT(cash SATATSST Al Jehfd BTl 2|

Q. 15: The nature of non-metallic oxides is:

3. AR

ER-EE]

. 3aTE
] ACIRIECD

a. Acidic

b. Alkaline

c. Neutral

d. Ionic
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feem Tt R 9fd &< (Fill in the blanks)-

The pH value of a neutral solution is .............

9T o STt ST pH A 5. 6@6511%%3131%3%3@( ............ FEA T |

When the pH value of rainwater is less than 5.6, it is called ............ :

& aTef St 3TR o TR % | ST e F afard g AT 39 8, Y8 g
FEAE |

Substances that indicate changes in their smell with acids and bases are called

The reaction between an acid and a base is called ........eevvvveveneeee.. )
HEHL T A H A T ITH 7 3 BT ... =t |

The nature of the gas obtained by burning sulfur in the air is .......... .

Aqueous solution of alkali turns ............... blue.

SIS SR T Goiet &I ST 0T o fofetad ol e .......... B8 |

........... T Tehfar STecfr TR AT SQTEAH Bt 2 |

The nature of ........... 1s acidic, basic, or neutral.

fereTare ol el 3 STl ot o foTT e warel ot STt fopart Siar 8,/ ............ FEd

g

Some substances used to test the nature of a solution are called ............. .
NH,NO, H 3l 90 ............. TS QT A ........ g

In NH,NO;, the acidic component is ............. and the basic component is ........... .

STCT ST TTIT IoTet &I © S TaIvT <hl Jehfel .......... BT 2 |

The nature of a salt formed from a strong acid and a strong base is ........... .

&
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12 TolcT 3R QT 3ocT TR S a0 T S ... TR |
The nature of a salt formed from a weak acid and a weak base is ........... .
13 eict 3TV QT ST &TR | S S0 shi JaM .......... B2 |
The nature of a salt formed from a weak acid and a strong base is ........... .
14 IFATE AR A R A AT ... TR |
A reaction between an acid and a base produces a salt and ............. .
15 KCI % STeft e & 9ehfd ............ B2 |
The nature of the aqueous solution of KCl is ............ :
16  pHHISTIATHAM ............ foreTo T IeH AT 2 |
The highest pH value is provided the ............ solution.
17 EERFTpHAA ............ BT e |
The pH value of blood is ............
18 YESARpHHAM ........... TR |
The pH value of pure water is ...........
19  fEEHH .. ST AT ST ¢ |
Vinegar contains .............. acid.
20 T % IeUEH H ST fHEl B pH A ... BT |
The favorable soil for rice cultivation has a pH value of ........... .
TSNS TH (2 3k

Short Answer Questions - (2 marks)

T4 1. I i ITehfdieh ek % A1 ot |

Q. 1: Name any three natural indicators.

T 2. WIST USTYT H UTC ST aTed fohegl a1 31eet o a1 TR |

Q. 2: Write the names of any two acids found in edible substances.
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w51 3. ot a1 wrapfarek @it o = fotRae et e aram ST 2 |

Q. 3: Write the names of any two natural sources where bases are found.

T 4. 9Tq h T TISGIoRAleh STrel § Bl STt SATshaT ohl Teh IATET0T ZIT HHEATSY |

Q. 4: Explain the reaction of a metal with dilute hydrochloric acid using an example.
T 5. il Gal el oh oI H gl Ud g gered i e v =R ?

Q. 5: Why should yogurt and acidic substances not be kept in brass and copper utensils?
T4 6. H' 3T shT Wi o1 forerar st Yepfer It o°T T 9T © 2

Q. 6: What is the effect of the concentration of H' ions on the nature of the solution?
% 7. IS A TETAe e o A1 fofag |

) Q. 7: Name any three chemical indicators.

— ) g 8. T O et § HY ST SURYd B9 § A & o et i i e 2

N —

Q. 8: Are H' ions present in an alkaline solution? If yes, why is the solution alkaline?

oI o o

T 9. ffeiRaa O 37l Ud &R =h! 9g=TT . HNO,, NaHCO; , H,SO,, KOH

Q. 9: Identify the acids and bases among the following: HNO;, NaHCO; , H,SO,, KOH.
T 10. HRI[eh SFFA Tole Tl & Sfelfeh STAIIH BISSIRATSS et &T7 & ? HHEATSU |

Q. 10: Sulfuric acid is a strong acid whereas ammonium hydroxide is a weak base? Explain.

T 1 1. IR BIEEISHHTSE oh BTEg el ieh 37l § B et SATshaT o Sfetd Temai-eh
iR TR |

Q. 11: Write the balanced chemical equation for the reaction of calcium hydrogen carbonate

with hydrochloric acid.
T 12. JeTeT TR T & 73aTeXvl i |
Q. 12: What is a strong acid? Give examples.
T 13. elcT 37 T © 2 3aTeTT S|
Q. 13: What is a weak acid? Give examples.

T 14. TITSTH FARES o STei foera Y whfd . gft 78wEmsy |

> Q. 14: What will be the nature of the aqueous solution of sodium chloride? Explain.
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T 15, ST HIfSAH TIESIHA1SS F FS Ihs hl Y AT AeHE Yo T T@T ST & el T H {1
crf;,u‘\i" T Sh1g NG T8l o, fohed e THY 18 38T 1T 1T &1 TFIdT & 0T GHETST |

Q. 15: When a few pieces of sodium hydroxide are placed on dry red litmus paper, initially
there is no change in color, but after some time its color starts turning blue. Explain

the reason.
I T (3 3 )
Short Answers Questions - (3 marks)

T 1. IerEeRtr iR ol shed § 2 Seretor Afs |

Q. 1. What is neutralization reaction? Give an example.

ST 2. FTOT §5ih § ST T GHEA & ? 36 ZIU STt To &7 shl Te=l ¥l 31 STl © 2

Q. 2. What do you understand by the olfactory indicator? How is it used to identify acids

A ‘“) and bases?
& T 3. G A A1 G H @ b1 AIST ATt S8kt pH A 6 H Seeteht 8 L oo | 38 g4 & <&t
I T fereh TR SR AT 2

Q. 3. Suresh added baking soda to fresh milk and changed its pH value from 6 to 8. Why

will it take more time for this milk to turn into yogurt?

T 4. 31 9T A 3T B T pH T ShAST: 8.2 37X 2.5 B, 39 T i< 97 ueref STreitr 37 shi-a1
AT BT 750 & fore gaTel oht SURNT Ui 3TFct o &9 H {ohaT ST gehdT & 2

Q. 4. The pH values of two substances A and B are 8.2 and 2.5 respectively. Which one is

acidic and which one is basic? Which substance can be used as an antacid?
T 5. Al 2T L&l o fTT fordt Tehm 3ht 2t © 31 |1% hid =118 ? & 2
— Q. 5. What type of toothpaste should be used to protect teeth? Why?

T 6. 3 AN U H 719 T RIHRI i &, 5901 T&F R0 1 § 7569 STH I o foIg A
fireen 31w ATNfrT o1 ST R Fa © 2

Q. 6. Many people complain about gas in the stomach, what is the main reason for this?

Why do people use milk of magnesia to get relief?

T 7. 3T 91 R hed & 738k ol BTi~eheh T ol faafla |

Q. 7. What is acid rain? Write its two harmful effects.
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T 8. TG H T o ST Torera STt 0T FaRId &1 ohid, STelteh Hewlieh a1 Teifeeh
TR o ST forera st & 2 8T 2
Q. 8. Aqueous solutions of glucose and starch do not show acidic properties, whereas

sulfuric and acetic acids do. Why?

ST 9. ©Tq o T TR ol STRITRAT B T AT -6 1 fHeerdt @ 2 9 et et
=T QIO Sh ST 2 TR 4Tq) T IETEXT i TS |

Q. 9. Generally, which gas is released when a metal reacts with an acid? How will you test

the released gas? Explain with the example of magnesium metal.
w4 10. Feferiaa sAfsfsramat o fofe avfertor €T .

i, O AR TR, GHaR ISieh o Ao STk T & |
i, T g TRt e vt o |y STfRT AT |
iii. Oifeam FEHe 3R wHfds o1ea it afsrfsran |

=\ Q. 10. Write balanced equations for the following reactions:

&

1. Diluted sulfuric acid reacts with granulated zinc.
ii.  Diluted hydrochloric acid reacts with magnesium ribbon.

iil. Reaction between sodium carbonate and acetic acid.

T 11. AIHSA § CO,,S0,,NO, 3T 3TRrehelT Sis1a b o STt ST hielt & 2

Q. 11. How does the excess of CO,, SO,, NO, in the atmosphere affect human life?
% 12, Fefifiad oreor § & steedta qei e getsh 98T NH,C1, KNO,, NaHCO;, CuSO,

Q. 12. Identify the acidic and basic constituents in the following salts: NH,Cl, KNO;,
NaHCO;, CuSO,

T4 13. a7 58 shed & 2 ferelt Sraor shY weper foher wepme frerfiic el 8 2

Q. 13. What is meant by salt? How is the nature of a salt determined?

T 14, AT TAT WY A TANT HLd G ASIH FANTES H Hig A ish et ST, HAHishar
ThRERY 118 et | AT = Tt o 78 o Hid Y[ (1t e o T dl ohig aiera
T g1 fobeq STt T foTeA™ U1 T@ Al 918 AT B T, $6hT SHRUT HHETST |

Q. 14. Lata and Madhu, during their experiment, added concentrated sulfuric acid to sodium
chloride, resulting in the release of a gas. When Lata held a dry blue litmus paper
near the mouth of the test tube, there was no change, but when she held a moist litmus

paper, it turned red. Explain the reason.
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TYITIT T (4 37k )

:\’ W Short Answers Questions (4 marks)
g T 1. % TaT o pH A fefafiad
Q. 1. The pH values of some substances are as follows.
CIE RIS - 8.2
Baking soda - 8.2
EIEGARE - 2.2
Lemon juice - 2.2
: ~ N real - 55
ZA)) Vinegar - 5.5
S Hifeam ersgierTss forer - 13
Sodium hydroxide solution - 13
IO |IOM ¥ TaU STioRe ot forswor st Feforiad w1t < St i)
Analyze the numerical data given in the table above and answer the following questions.
1. et ot Y e T 20
a. Which substances are alkaline in nature?
T . Tor warerf <t wepfer svefir 22
E b. Which substances are acidic in nature?

. for aarert Y wehfa Samefia 22

c. Which substances are neutral in nature?

T 2. pH T 87 2k Siiae U 38 Wecd ol T8 HifSu)

Q. 2. What 1s pH? Explain its importance in daily life.

7 13
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f\lk \,

A 3. ITA A AT A B & 1okt A foIT T &, 30A A o1 ST | A3k AT B § STaifeh
3 B T S H QU1 AT BT 8, 36 SATER T AT -
Q. 3. Acid A and Acid B have been taken in two beakers. Acid A partially ionizes in water

while Acid B completely ionizes in water. Based on this, answer -
3. A T B H FIH-8T1 37FcA gl AT 161 ToTeA &7

a. Between A and B, which acid is weak and which one is strong?
. Tolet TR Toh el 87

b. What is a weak acid?

. JaIe 3T ford shad 22

c. What is a strong acid?

T, Tcdeh oh IS8T SIS

d. Give an example of each.

T 4. WfRT 7 S qie e A,B,C,D,E 3l |eiieh ¥=ieh | Sfie ohl d« 7 AT 9,7,1,13
TS 6 TH BT 36 ATL W Sq18T 31 hi=-41 e ...

Q. 4. When Monica tested five solutions A, B, C, D, E with a universal indicator, the values
obtained were 9, 7, 1, 13, and 6 respectively. Based on this, identify which solution
IS...

3. gcicd AT . gcfcd T 9. T AR €. I & 3. IS

a. Weakly acidic b. Weakly alkaline c. Strongly acidic d. Strongly alkaline e. Neutral
w1 5. frfaifiad et #§ stelta qotes o ST HoTeh STT-3TerT L STRM| i f[Ray)

Q. 5. Separate the acidic and basic radicals in the following compounds and write their ions.

CuS0,, CH,COONH,, MgCl,, KNO,, Ca(OH),

T 6. 37 o fescieh ohl O BTSSRIk TRt § STTI5HaT T UL Es[aTee o6 HTel U 11 feheel!
&, qAT AT ST 8, FMT 6 I3 S o T WA o S GerTd! g8 SR o I T
o 31 SITelt 2| T feigaft oh STam o wwHeEsy|

s fafer
JYHTT T ot
° FAfufsra st Eqford T HteRT

14
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Q. 6.

When the eggshell reacts with dilute hydrochloric acid, a gas is released with
effervescence, and a froth forms. After the froth settles, if a lit incense stick is brought

inside the test tube, it gets extinguished. Explain based on the following points:

o Experimental method
o Diagram of the apparatus
o Balanced chemical equation

T 7. WEAT A T B T GH Tel1s shl BRI sl 9t <ifog) aiamelt A § esglaaiiies 3

T WA B H wHifd 37reT Sifig) ford qremedt | oS € SesEree gl S i
GHieRTT Tfed Uy

Q. 7. Take strips of magnesium of the same length in test tubes A and B. Add hydrochloric

Q. 8.

acid to test tube A and acetic acid to test tube B. In which test tube will rapid

effervescence occur and why? Explain with the equation.

. 1. T ToRET Tt <ht HaT ohl fordt TRReIfar H TomT ST ST =T, ST §311 <[AT A1 =Teh U13eT

ST SUIANT HTT?

1. Under what condition of the soil will a farmer use unslaked lime, slaked lime, or

chalk powder?

517 8. 2. Foreh oY TRl o SATEIR oK STSSHISTA 1 et fohl TR 3TOHTT 47 aftafel sheat &, |weimsy)

Q. 8. 2. How does the hydrangea flower changes its colour based on the nature of the soil?

99 9.

Q. 9.

Explain.

SHAAT ST H Tt &1 off| 38 qaar A e foran X o T il Swsht | 3 qLd Twrierd
STTE TR ZYUEE ST 19 TTIAT SR oL 3 ST 3 T8 of |

i, T o <o | AT 81T &7
ii. JEEhT /T = THTISIA & T ZUEE AT ST

Kamla was playing in the garden. She was stung by a wasp and she started crying.
His mother immediately applied toothpaste on the affected area and then took him to

the doctor.
1. What happens in a wasp sting?

1. Why did his mother apply toothpaste on the affected area?

15
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JEATT 4 — dedl BT JATadl afibeor -
“ Chapter 4 - Periodic Classification of Elements

El'{-?\lnﬁ'SH%T (Objective Questions):
gl fawmea gﬁ& (Choose the correct option):

T 1. 3 deall § § foreent 1 forver waiferes g

Q. 1: Which of these elements will have the highest ionization potential?

(1) Tifsa (Na) (1) Sodium (Na)
(2) B (Mg) (2) Magnesium (Mg)
X (3) e (C) (3) Carbon (C) \ ¢
( ) (4) T (F) (4) Fluorine (F) \* 72
~ ) 2, et B A - e e ik S fere - Sy
S Q. 2: Which of these elements is the most electronegative?

(1) SATFEISH (1) Oxygen
(2) FARA (2) Chlorine
(3) SIS (3) Nitrogen
(4) FAET (4) Fluorine

ST 3. 3ATeI AROM o R ST H HHTO] S| sTGH o §1Y - | gfg Bt 8-

Q. 3: In a period of the periodic table, with an increase in atomic mass, there is an increase

TE in -
:

&

(1) & - foreget 1o 5 f & €

- (1) The property of electropositive increases. LY

(2) 0 - forgget o7 5 f 2 <

(2) The property of being electronegative increases.

(3) TETeh Ashaar H g5 aidl gl

(3) Chemical reactivity increases.

(4) TrEE e afshaar § FH 2t 2)

(4) Chemical reactivity decreases. 3

16



v 4. frefafaa 9 9 frah smafaes e g arfoes 2-

b
C(\Y\’I | g

:\’ N\ Q. 4: Which of the following has the highest ionic radius?
" (K" (K"
(2) 0 (2) 0"
(3)B™ (3)B*
@ C @ C

T 5. T § forerent TR werd BieT grTl-

Q. 5: Which of the following will have the smallest size?

(1) Al (1) Aluminium (Al)
() 2) A" 2) Al
=) (3) A% 3) A
Sl (4) AP (4) AP
T 6. T T T I - |7 Yot ST B-
Q. 6: Which of the following is a strong reducing agent?
(O F (1) F
(2)Cr (2) CI
(3) Br (3) Br
T )T )T
E w1 7. T o 9 foperent St forvyer watfess 2-
~ Q.7: Which of the following has the highest ionization potential?
(1) HfeIr—m (Ca) (1) Calcium (Ca)
(2) 3fEH (Ba) (2) Barium (Ba)
(3) Uimet (Sb) (3) Antimony (Sb)
(4) By (Mg) (4) Magnesium (Mg)

7 17

JC

&

.“x\



T 8. Ueh dicel [STeshT GLATU] ShHTe 20 €, ST |Ioft o fore we 1@ ST

b
~O ||\_)‘-’
.

t\/ N\ Q. 8: An element with atomic number 20 will be placed in which group of the periodic table?
3 (1)4 (1)4
(2)3 ()3
(3)2 (3)2
4)1 4) 1
T4 9. Tqeal T AT forvig oTTard areft o ot 4 8-
Q. 9: In a group of the periodic table, the ionization potential of elements -
(1) ITHII] ATRT % |1 T 2 (1) Increases with atomic size.
( ﬁ\ ) (2) 9T ATHRT & T FeaT B (2) Decreases with atomic size.
=\ (3) Fer a2 (3) Remains constant.
Sl 4) AT T § SCoqr 8l (4) Changes irregularly.
T2 10. STe AUt & Tk it o weft dedi % oIe {2 2-
Q. 10: In the periodic table, for all elements in a group, which of the following is common?
(1) ITHTT |9 (1) Atomic weight
(2) 9RHTY] AT (2) Atomic number
(3) YR shHTH (3) Weight number
T\—/ (4) 59 S q SoTae ahl HEAT (4) Number of electrons involved in
E bonding

S U 1. U Ao o1 W] SHHT 11, $He SAETSS Sl ST 2 -

Q. 11: An element has an atomic number of 11, its oxide will be of which nature?

(1) STty (1) Acidic

(2) @™ (2) Alkaline

(3) 1 3R 2 AT (3) Both 1 and 2
(4) T (4) Neutral

7 18
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T 12. B, C, N 3 O % Foia A SIEdT o1 5hH & -

b
~T ||\_)‘-’
~

t:, N Q. 12: The order of electron affinity for B, C, N RO is -
: (1) 0>C>N>B (1) 0>C>N>B
(2) B>N>C>0 (2) B>N>C>0
(3) O>C>B>N (3) O>C>B>N
(4) O>B>C>N (4) O>B>C>N
T 13. T 3Tt Trfen e € -
Q. 13: Which of the following has the highest ionic radius?
(1) c* (1) c*
() 2) N* 2) N*
ZAW) (3) 0* (3) O*
e § .
(4) Mg (4) Mg
7 14. Fre7 0 @ foraeht STRme et stférepay @8-
Q. 14: Among the following, which has the highest ionization energy?
(1) He (1) He
2)C 2)C
(3)N (3)N
T (4 H (4 H
E 9 15. T | T el o 0 | 3okt STedl i1 H SUTEId Siag i1 ohl EAT SISK BIdT o

Q. 15: In which of the following pairs of elements, the number of electrons in their outermost

shell is equal?
()N, O
(2) Na, Ca
(3) As, Bi

(4) Pb, Sb

(HN,O
(2) Na, Ca
(3) As, Bi

(4) Pb, Sb
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T 16. TSR § FARM, SHIA 8 SRS § ST 9 forga sKoran

\
(I

BN Q. 16: Upon moving from fluorine to chlorine, and from bromine to iodine, what happens
i\’“ to the electronegativity?
(1) el 8 (1) Increases
(2) Tt H (2) Decreases
3) Tge Tt 8, T st & (3) First decreases, then increases
(4)spH EENECES) (4) Does not change sequentially
w7 17. sifeforam soek Ty foreot defer gwiiar 8-
Q. 17: Beryllium shows diagonal relationship with -
() (1) Mg (1) Mg
® X~ ) (2) Na (2) Na
& (3)B (3)B

(4) Al (4) Al
7 18, ST ATieTehT 6 fohe Ee H U | el sht 3T ST 9T I |1 07 & SR @l 8

Q. 18: In the periodic table, which property remains unchanged when moving from top to

bottom in a group?
(1) 9THTI] ATRT (1) Atomic size

(2) I e (2) Density

E O ERISETIENEHE (3) Valence electrons
(4) dfcareh Teqor (4) Metallic characteristics
T 19. T971 § & SI9 §7 qcdl 3o ST § A& 9T ST

Q. 19: Which of the following elements is not found in the liquid state?

(1) Hg (1) Hg

(2) Li (2) Li

(3) Ga (3) Ga
] (4) Br (4) Br

- 20
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v 20. f=7 1 9 foreent SRR god TreT &2

\
(I

t\/ N\ Q. 20: Which of the following has the largest size?
- (1) Al (1) Al
(2) AI' (2) Al
(3) AI* (3) A
4) Al (4) AT
1 21. foret e <t Pream =g 2-
Q. 21: Which cation has the smallest radius?
(H K" (H K"
() (2) Na' (2)Na'
=) (3) Li* (3) Li*
S . .
(4) Be (4) Be
57 22. Tohe et T T ST forvia Tert 31freh 8-
Q. 22: Which element has the highest first ionization energy?
(1) St (1) Lithium
(2) %’IB@TTFT (2) Hydrogen
(3) AL (3) Uranium
T\—/ (4) AT (4) Iron
E w27 23. 3 et o SRR o1 Wl 3R 2-
~ul Q. 23: The correct order of the sizes of the following elements is:
(1) Na<Mg<K (1) Na<Mg<K
(2) P>CI<Br (2) P>CI<Br
(3) O*<F<Mg** (3) O*<F<Mg**
(4) I<I<I’ (4) I<I<I’

- 21
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ST 24, TftErdl! HRATSTeRaT T 8-

\
(I

t\/ N\ Q. 24: The property of variable valency is shown by:
: (1) TS (1) Halogens
(2) HshHYT dcd (2) Transition elements
(3) & =Tqu (3) Alkali metals
(4) e T (4) Noble gases
11 25. TR AT 3 T Seagta siege 2-
Q. 25: The electron affinity for noble gases is:
(1) 3= (1) Zero
() ) 3= (2) High
=\ (3) RUTTH (3) Negative
Sl (4) GATCHF (4) Positive
ST 26. FOFZ A ST 4T FAT 8-
Q. 26: Electron affinity depends on:
(1) GTHTIT ATHRT T (1) Atomic size
(2) R 1A T (2) Nuclear charge
3) QTHTU\IEFI'IEF KL (3) Atomic number
T— (4) TTHTY] SATHR HIT ATHHRT ST ST W
E (4) Both atomic size and nuclear charge

9% 27. HeH HH SAHEH ST €-

Q. 27: Which has the least electron affinity?

(1O (1) O
(2)N Q)N
(3) Ar (3) Ar
(4 F (4) F

- 22
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947 28. RIS H TR Foidgi s &-

b
~O ||\_)‘-’
.

JC

t:, N\ Q. 28: Among the halogens, which has the highest electron affinity?
- (1)F (1) F
(2) Br (2) Br
(3)Cl (3) Cl
41 41
w51 29. T 5 @ forwreRt ST forvia e e &-
Q. 29: Among the following, which has the lowest ionization energy?
(1) Li (1) Li
¢ (2) He (2) He
< (3N ()N
&
(4) Zn (4) Zn
oem Tormt <61 i AT -
Fill in the blanks:
(1) ST T TATIVTE BT AEET .o, BIdT 2
Oxygen's atomic radius compared to NitroZen is .........cccceeveeeveeeveeeveeenneenne.

2) v& fpet M WA W TH SoiEE SISl ST §, Al Hehed areft &S e

Mn is an example of the element ............cocceeviiiniiiiiiinnncs

(4) TR TR oo, T Heferd &

7 23
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BN In the periodic table, non-metals are located on the ..........c..cccooviviininiinnne. side.
(7) T QATfCTeRT & ST & FTE ST TCRHTI ST e Bt 2

In the periodic table, as we move from left to right, the atomic radius

Fluorine's electronegativity compared to Chlorine is ..........cccoeevvevieeiiienieennennn. and

Fluorine's electron affinity compared to Chloring is .........ccccceveevevenvenieneennnene.

(9) Be T STRAT I B H <. H
( D

The ionization energy of Be compared to B iS ......ccoocvveviiiiiieiiiiicieees

\ ) (10) e i G T Breft &

Eka-boron is referred t0 as ........cccoevvvvieeiiivnneneeeeeneee,
(12) 3TTad | S § 3 ST O AT ST S0 H oo BT &l

In the periodic table, as we move from left to right, the ionization energy generally

(13) TRHT] IR 3hT SATETC FIRT ToRT TTT ST T v FHEATT 2
E The periodic law based on atomic weight is termed as ..........coeceevevercvercieniinienienne
. (14) Na 3T T H Na' 3T 3T ..o =il
Size of Na', compared to Na Will be ........cocooveveveeeveeecrercree.
(15) CLAIT CI T oo Bkl
Between Cland Cl ....oocoooiiniiiiiiiiiiiieeee. will be smaller.
(16) ST TAT TG THE B T oo SR ShEelld ol
The elements of the first and second group are termed as .......c.cccoeeeevieiieiiieniieeniieene
] block.
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(17) Li T Mg T Be 31T Al 3 T[0T H SHEAT 1 TRT T <o TleT o HIOT
BT 2l

The similarity in the properties of Li-Mg & Be-Ai are due to the ........cccceevveeiennnne.
relationship.

(18) ST TG AROT T B .o EI | X I e 2l
The modern periodic table has a total of .............c..cc..c....... groups and .........ccceceveeennennne.
periods.

(19) TBTET oo HHE I T &

Carbon is an element of the .........ccccooceviiiiiiiiiiinnnne. group
(20) ST TR 3 SEATILETT T oo Fad 2l
The vertical columns of the periodic table are called ...........cccccoveeciiiniiecieennen.
)
(21) 3T5F T FHTITTTTET oo 3 feram)
The octet rule was proposed by .........cccceeeevvievieeciieecieenen.
(22) T o U H 550 T UGN 31 AT T e Ed g

The repetition of properties of elements in a sequence is called the elements'

(23) TATZISI ST 3 AT T ..o oft e 2
Elements of the nitrogen group are also called ............c.cccuveenneeee.
(24) AT AR H qeatt ol Refa AT % TR X G i ST 2

In the periodic table, the position of elements is determined based on atomic

(25) THTI] AT BT oo & AT © /1T ST 2
Atomic radius is measured N .........coceevveneeneenenn

(26) T3 AT FoRINAT R R T T Hohd &
A characteristic of metals is that they can ............ccoccceeeennee.
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(27) ST ST TROTH .o 1t o T T SATET TOREITI 7T W@ 2

N In the modern periodic table, elements of the ............ccccceeeeenne. group have the highest
|
v 3 displacement capacity.

1) WO Tedl 3Tad ARt § gad 31freh Tfaeema erar arelt ded 2l
............................... is the element with the highest displacement capacity in the periodic
table

(29) TeaT ST TTCREITAT &THAT T T ... % IATIR T qF Bl 2
The order of displacement capacity of elements is determined based on

(30) et TEE T Tl o A TR R TR A T |

( )

S Afq g ITT TA ¢ 2 3fh
Very Short Answer Questions : 2 Marks
T 1. SATE R e ST arfereRt § foha g 7

Q. 1. How many groups are there in the modern periodic table?
w4 2. 758 dcd it ST et waffoss 27

Q. 2. Which element has the highest ionization enthalpy?

T 3. p TAT d ST eali o fobe g formamer oX fnf 22
Q. 3. How many groups of p and d block elements depend on the configuration?
T W 4. Tl o I © U SR e T oY R E?

Q. 4. Which properties of elements depend on the electronic configuration?

T 5. T o i W T[T A 1+eh T2 o it e st &2

Q. 5. Which properties of an element do not depend on its electronic configuration?
5 6. T e <hT forea SRorar werer Afereh qer forwrsh! werdl s &2

Q. 6. Which element has the highest and which one has the lowest electronegativity?

7 26

&

3



T4 7. ITady eI aTet dedl Rl AT Sargd|
Q. 7. Name the element with the highest melting point.
T 8. I AT e 8 TAISTehal YaRTd T 82
Q. 8. Which element exhibits a valency of 8?
ST 9. TRHTY] 3T 90 § 103 AT e ahl T el a2
Q. 9. What are the elements with atomic numbers 90 to 103 called?
T 10. AT AT Aol fore o7 ot Freft st 82
Q. 10. On which property does the modern periodic table depend?
T 11, IR o6 S1G o e hl TR A1 & ST 82
N Q. 11. What are the elements after Uranium known as?

S T 12, 19 GO H He¥ Ao To=]d SKoTTeHeh qeal 31 1 sl

Q. 12. Name the element with the highest electronegativity in the periodic table.

T 13. I=I TS Fsll 1A dedl ol 919 FdT18Y]

Q. 13. Name the element with high ionization energy.

T 14, TG H SR W G ST O HRATY] AT § R qiE it 82

Q. 14. What changes occur in atomic radius as we move from left to right in a period?

T 15. N hl T T Tt O 9 SI1eT 8idl §, F41?

Q. 15. Why is the ionization enthalpy of N greater than O?
T 16. CL AT ¥ Cl” TR 1 ST F 8§ F ST S & HATHM BieT 8| F1?

Q. 16. Formation of Cl- ion from Cl atom is easier than the formation of F- ion from F. Why?
w5 17. faffer aca ford e €2
Q. 17. What are representative elements?

ST 18. SATEeR HATa - T &2

Q. 18. What is the modern periodic law?

T 19, HUSHI T JT[ad 9w =1 87

Q. 19. What is Mendeleev's periodic law?
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T 20. ATV Bear for shegd 82

Q. 20. What is atomic radius?

Y I I : 4 3k

Short Answer Questions : 4 Marks

T 21. dcal o S TehTUT ohl STTSTIhT T UST?

Q. 21. Why was there a need for classification of elements?
T 22, Y e o =R @ fafeay

Q. 22. Write the four features of the modern periodic law.

T 23. HUSTH =T 3A1erd (1o fofiaw) fueedie i strad @l & e & =11 &)

Q. 23. State Mendeleev's periodic law. What are the main demerits of Mendeleev's periodic
table?

ST 24, ST ST ARON F SR (Ar) T AR (K) o € forg werr fraffe forg m &2
EEEE Y

Q. 24. How have the places of Argon (Ar) and Potassium (K) been determined in the modern
periodic table? explain.

T 25, SATerd GROM H HshHUT deal ohl shal €T feam mam )

Q. 25. Where are the transition elements placed in the periodic table?

T 26. =AU hT 3T [~ 7 €2 g8k SFABT T oh T HL0T &2
Q. 26. What is Newlands' octaves rule? Why did it fail?
37 27. HUSTHIS sht ATad ARt ht IR fareivaTd same

Q. 27. State four features of Mendeleev's periodic table.

T 28, THTUGh e Afeh frsam s/ 82 CI it rfieh fsar C1 8 samer gt 8, STeffeh Na* &bt
Na 9 5 317

Q. 28. What are atomic and ionic radii? Why is the ionic radius of Cl” greater than CI, while

the ionic radius of Na' is less than Na?
ST 29. UM T ST 36k ol THTY § ST BT & 0T ATy

Q. 29. Explain why the size of an anion is larger than its parent atom.
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11 30. Toeft ST AT TR 3EeF HT THTI & BIeT BT &, R i)
Q. 30. Explain why the size of a cation is smaller than its parent atom.
T 31, ST AROf H HYET ok Safor T 82

Q. 31. What are the characteristics of groups in the periodic table?
%7 32, STTed AUt H ST ok cragur T 22

Q. 32. What are the characteristics of periods in the periodic table?

T 33. deal o FAfctRad strardt ot bt afeive ShifSrg Tom awsse it At wreft § ard |
37T Te SR & A= ST R 3 o H foRe e afterd gt 2-

(1) A fava
(2) THTfvEes s

Q. 33. Define the following periodic properties of elements and explain how these properties

change as we move from left to right and from top to bottom in the periodic table-
(1) Ionization energy
(2) Atomic radius

T 34, "'d SEATHR" qeall oh FHT TT&I0T T &2

Q. 34. What are the general characteristics of "d block" elements?

T 35. HUSTHI ol ST ARl Y S et st € 82 3w s e e wroft 7 8 frepa
[ERIRIIY

Q. 35. What are the main shortcomings of Mendeleev's periodic table? How are they

rectified in the modern periodic table?
57 36. 'S SATR" o qcdl oh HIHTT &0 TSy

Q. 36. Describe the general characteristics of "s block" elements.

T 37. "P SATR" o dcdll o ATHTT AT SIdqT3U

Q. 37. Describe the general characteristics of "p block" elements.

7 38. fewuft forfay -
(1) HAISThelT (2) T Sgar
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Q. 38. Comment on -
N (1) Electronegativity (2) Electron affinity
w57 39, T 7R 31T ot i ST |roft 7 geEsy
Q. 39. Explain the block and period in the long form of the periodic table.

T 40, GshHYT dedl, ST ded bl <TEf 3TTard SRl § HeST)

Q. 40. Explain the transition elements and representative elements in the long form of the

periodic table.
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g1 — 2 (UNIT -2) —

S N |

«\ -

, FAE 9 - €l Ud AT HH

Chapter 9 - Metals and Metallurgy

T:l'{-?\lnﬁ'SH%T (Objective Questions):
aﬁﬁmgﬁﬁ (Choose the correct option):

1. frefafes & o afrr g @ -
Which of the following is the most reactive metal? P
i. M i. M 4
> 1. i.
( ) ¢ ¢ \¢ 2
3 ii. Al ii. Al P
— ) )
cee e ,.\
L N 1. Na 1. Na
iv. Zn iv. Zn
2. FrE el aTg S O WSS Ee @ -
Which of the following metals is liquid at room temperature?
i. Na i. Na
ii. Fe ii. Fe
iii. Hg iii. Hg
bl
E iv. Br iv. Br
— / —

3. T HeH ST e 41 | -

Which metal is the best conductor of heat?

i. e 1. Iron

ii. e ii. Copper

iii. Teg e iii. Aluminium
INAS IS 1v. Zinc

- 31



I €T T T =Teg § +ff e ST HehdlT @ -

Which metal can be cut with a knife?

i. ehferm i. Lithium

ii. efeaw ii. Sodium

iii. TegHifRm iii. Aluminium

1v. ST&AT 1v. Zinc

F H G T A G el € -

Which metal is a conductor of heat?

i. eftform i. Lithium

ii. afem ii. Sodium

iii. qrefIEm iii. Potassium

iv. Tt iv. All of the above

SIS AIEh aa"rﬂjr%-

What is the formula of bauxite ore?

i. MgCOs; 1. MgCO;

ii. A1,05;.2H,0 ii. ALLO;.2H,0
iil. Fe,0; iii. Fe,0;

1v. SnO, 1v. SnO,
ehfceaH fafcTehe € -

What is calcium silicate?

i. forsrerq i. Alloy

ii. T i1. Gangue

iii. HTqH iii. Slag

1v. Tcdsh iv. Flux

32
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HTI UTSEE (FeS,) o A0 o6 forq o o & st @t forfer e a6

For the concentration of iron pyrite (FeS,), which of the following methods would

be used?

1. Tgﬂ-‘@Fﬁ'q JFRIIT 1. Magnetic Separation

11. & TIFhI0T i1. Gravity Separation

111, 0T IcCATIT iii. Froth Flotation

iv. é’%ﬁ AAYEEA iv. Electrolytic Reduction
STFIST & -

Aqua regia is:

i. 1 9T |7% HC1 @1 3 91T |7 HNO;

i. 1 part concentrated HCI and 3 parts concentrated HNO;

ii. 1 91T |ig H,SO, TUT 3 91T |ig HNO,

i1. 1 part concentrated H,SO, and 3 parts concentrated HNO,
iii. 1 9T &g HNO3 9T 3 91T |ig HCL

ii1. 1 part concentrated HNO; and 3 parts concentrated HCL
iv. 2 9T |ig HC1 9T 2 9T Hist HNO,

iv. 2 parts concentrated HCl and 2 parts concentrated HNO;
T T i SFaet GTqe & -

The constituent metals of stainless steel are:

1. Cu, Zn, Sn 1. Cu, Zn, Sn
i1. Fe, Cr, Ni i1. Fe, Cr, Ni
iii. Fe, Sn, Al iii. Fe, Sn, Al
iv. Cu, Fe, Zn iv. Cu, Fe, Zn
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11.
c‘"“/“‘\f"
tz
f\lk\
12.
( )\
= \“)
&
13.

EEERERIPEREIRIEE IR IERIaYi

Which metal will react vigorously with cold water?

JC

i. qrefirm 1. Potassium

ii. dfaT ii. Copper

iii. TR iii. Magnesium

iv. | iv. Gold

T ek STETqaed qU =T T R -

Which is the most ductile and malleable metal?

i. gifeam i. Sodium

ii. =&t ii. Iron

iii. =riat iii. Silver

iv. T iv. Gold

T o o1 |1 T ToreeITo SATTShaT ot -

Which of the following pairs will give a double displacement reaction?
i. NaCl foer= wd i o1q i. NaCl solution and copper metal
ii. ZnSO, foreraT ue afan a1d ii. ZnSO, solution and copper metal
iii. FeSO, foreta wef foieh g iii. FeSO, solution and zinc metal

iv. CuSO, IENREREASESI g1q iv. CuSO, solution and zinc metal
T3 o 9 = ©t T SRR Tk e 7 fied © -

Which of the following metals occur in nature in the free state?

1. Na, K 1. Na, K

ii. Fe, Al ii. Fe, Al
iii. Au, Pt iii. Au, Pt
iv. Mg, Hg iv. Mg, Hg
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15.
C"“,I}‘U‘J
t/
nlk\
16.
()
= \“)
&
17.
: 18.

HTHFS ITAEh h! HTFETES H NG & T8 ToIer T ST fora ST & -

Which method is used to convert sulfide ores into oxides?

i. Zaor
ii. Wi
iii. feamT=

iv. 9isoT

FRUSH fohE YT T 3T © -

1. Liquation

ii. Roasting

ii1. Calcination

iv. Concentration

Corundum is an ore of which metal?

i. T

o
ii. =T
iii. dteT

iv. ST&ET

BETEE 3T T A © -

1. Aluminium
ii. Iron
iii. Copper

1v. Zinc

What is the formula of magnetite ore?

1. Fe,0;
ii. Fe;0,

ii1. ZnCO;

iV. A1203H20

Ty SiTeeTse T Thi el & -

1. Fe,04
ii. Fe;O,
iii. ZnCO;

iV. A1203H20

What is the nature of magnesium oxide?

i, 3R
ii. vyt
iii. &
iv. 3TEHA

1. Acidic
1. Amphoteric
111. Basic

iv. Neutral
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19.

20.

%’I’s}%ﬁ‘s’ﬂw TS ST (Rust) _Oh"fl:lff% -

What is the chemical formula of hydrated iron oxide, rust?
i. Fe,0;4 1. Fe,04
ii. A1,0;.xH,0 ii. Al,0;.xH,0
iii. Fe,05.xH,0 iii. Fe,05.xH,0
iv. Fe;0,.xH,0

Cu % THITh ST 2 I T T SR G -

iv. Fe;0,.xH,0

Which metal will be suitable for the chemical reduction of copper (Cu)?

1. Zn 1. Zn

il. Ag . Ag
iii. Pt iii. Pt
iv. Au iv. Au

fiees ot st gfd HIFAT (Fill in the blanks) :

1

Ao @lshd oTg ST HH Wik o1 1 38k A0 o fooidd | g Al R

The process of removing less active metals from their ores by more active metals

iscalled .....ccoooeeveninienne.

SANEE H TR T ATAT AT T TG ST v gl

The principal ore of iron found in Chhattisgarh is ..........ccccecveneeneee.
THTEE SR BT .o B

The formula of hematite ore 1S ........cccocevevieeenenne

1S OO TAT oo o7 & St firey g 2
Brassisanalloyof..................... and ... metals.

The process of heating an ore to a temperature below its melting point in a limited

supply of air is called ...........ccceveeneenne
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6 % e ST I W IURUd o SIiedl ¥ BRI R aiqee S @
i‘f“" e FEATT 2|
’ : The substance that reacts with impurities present in the ore and forms slag is called
7 CHITES IR BTG e forfer gm ferar StraT 21
Hematite ore is concentrated by the ............ccccveeeeeene. method.
8 AR R H oo, T o &9 H U STt &)
During the extraction of iron, ..........cccceeverevennee. is mixed as a flux.
9 T STRAT § THRAT T T ST TAT oo, EEIGI
( ﬁ\ ) Metals react with acids to form corresponding salts and ..............cccccuveeneee.
— ) 10 A SRl o o R ST ol T O FEMT v AT Bl
S Coating a thin layer of zinc on iron articles is called ............c.ccceeneennee.
Stera water wifeu -
Match the following:
a. 3 q
1. BHEISES a. Al,032H,0
2. dIdTgC b. MgCO;. CaCO;
3. SldMge c. Fe;03
TE 4. IR UTERISE d. CaCOs
E 5. ATSHREM e. FeS;
_ A B
1. Hematite a. Al,032H,0
2. Bauxite b. MgCO;. CaCO4
3. Dolomite c. Fe,03
4. Iron Pyrite d. CaCOs
5. Limestone e. FeS;
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3

AP 5S IRRD

ok~ 0D

PHTEI-C SRRD

PIH © AT AU
PR H ATEH

oS, RieaR BT g

A

1. Sulphide ore

2. Carbonate ore

3. Reduction with coke

4. Refining of copper

5. Purification of gold and silver

> w N

. Fe203

SnO;
Cu,S

Au, Ag, Pt
Sn, Pb

Fe.Os
Sn0O,
Cu,S

Au, Ag, Pt
Sn, Pb

38
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a. e

b. oI

c. e

d. S e

e. faera arygen fafy

B
a. smelting
b. roasting
c. calcination
d. zone refinement

e. electrolytic method

q

a. T Il fafe)

b. THTEYAFHRT]
C. S 9eH
d. ggo1

€. JHIDIY YIhRUI
B

a. Froth floatation

b. Gravity separation

c. Refinement

d. Zone refining

D

. Magnetic separation
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b
~O ||\_)‘-’
.

t\/ O Short & Long Answer Questions :
> w4 1. fAfaftaa T awems -
1. 3IEh
ii. @it
iii. ETTACT
1v. Teteh
Q. 1. Explain the following -
1. Ore
( ) 1. Mineral
~ ) iii. Slag
iv. Flux
w1 2. Tmforfiaa stfwsransti & fore wigicra ewtent fufag
i. Ui erq i St arsy § sAfwfsran
ii. e itz 1 Aifsam erggiaase o Afufshan
{ii. hfcE=IT HIS-E 31 7TH L TT Tl
iv. Gifgam Y ster @ fopam

T\—/ Q. 2. Write balanced chemical equations for the following reactions -
E i. Reaction of aluminum metal with steam
ii. Reaction of zinc oxide with sodium hydroxide

iii. Heating of calcium carbonate

iv. Reaction of sodium with water

1 3. Torell oTq (Cu) % IEq ST0EeHT SIS o [T THIS, HellS qeT foregqd e =T gt
HHARY?

Q. 3. Explain what will be the anode, cathode and electrolyte for electrolytic purification of

> a metal (Cu)
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T 4. 3T o Gigur i Fefafemt s fo afed amemse -
i. T Seoeta farfer ii. STehTT qerershtor ferfer
Q. 4. Explain the following methods of ore concentration with diagrams -

1. Froth flotation method 1. Magnetic separation method

T 5. BHCTEE ¥ IR o fsshuur onl Fr=fetiRad et o S1me o ew=Tsy -
i IR R i
il SATATES o HTq STHATES o eITq H IHT=I (FHIRI)
iii,  SATCATIE! T ATHITRA o
Q. 5. Explain the extraction of iron from hematite based on the following points -
i Ore concentration

ii. Naming of oxide reduction of metal oxide to metal (Equation)

iii.  Blast furnace labelled diagram

) . o o .
T 6. (37) ST A T SFEIA Tt fogid @ 82

() HEWT § = h 3 39 feAfaw)

Q. 6. (a) What is the electrochemical principle behind rusting?

(b) List 3 methods to prevent corrosion.

% 7. 9] HTFETES § oTq s i e shi 3eTer died ey -

(37) ST TU=I () THRI ST
Q. 7. Explain the methods of metal extraction from metal oxides with examples.
(a) Corbon Reduction (b) Chemical Reduction

T4 8. hIOT ddT1T -

i. Na, K Q9T Li HTq %! € H FaTeh [T ST 8
ii. 5% we |fshar oTq & TR off SHeT STRT S ST H TR ST

iii. IS T HEHTES I § T Feapnvr o forg 36 SAterss # aftafa foram ST 8

Q. 8. Explain the reasons behind the following -

1. Na, K and Li metals are kept immersed in kerosene.

11. Zinc, being a reactive metal, is used to make utensils.

iii. Conversion of carbonate and sulfide ores into oxides for metal extraction.

40

JC

&

3



T 9. AT I -
(37) WS Td 3h
CIEEERGRESIRE]
Q. 9. Differentiate between -
(a) Mineral and Ore
(b) Roasting and Calcination
T4 10. ST T o fore ot i sTrerefie G stz ) e forg wh forameher gEmsy)
Q. 10. Both moisture and oxygen are required for rusting. Suggest an activity for this.

w1 11, Frmfeiaa strfsmenst =i qof Hifsm)

) Q. 11. Complete the following reactions.

) Na,O + — 2NaOH aq
i. 4As + 30, -
. AlLOz+ —  2AICI; + 3H20

Iv. 2Fe+3H,0 —

7 12. FTTRaq aTeRT T i IaTEL0T Hied HHEST -
i, i ii. freama iii. ST

Q. 12. Explain the following metallurgical processes with examples -

1. Roasting i1. Calcination iii. Smelting

41 13, Tt 5 S e e o ot wfe amaewy 3 et e w1 2 fere s A
27
() 59 (@) S 2Me

Q. 13. Explain the following methods of metal purification with diagrams. Mention which

metals they are used for.
(a) Liquation (b) Zone Refining
T 14. (a) Cu 9T o R0re 5 forg fofer i1 SoRimT foram ST 22
(b) ST T SR A= T AHIToRd Tor= ST GU foIfer T v hifog)
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Q. 14. (a) Which method is used for the purification of copper metal?

N (b) Draw a labeled diagram of the apparatus used in the process and explain the
|
> 2 method.
T 15. 37T SHETEE T ¥ HTATT 1 (G, STEAT H UTH A ST 1@ 3 - TohH © Helfad SIehrieat
fou o site W Wit
1. JEh hl ¥
ii.  WiEOTh forfer
i, 3iTse ® ufEdq &I fafer
iv. YA ﬁ blgrh SEE U
v. 3T & H g ATt STk
vi.  Sufeerd swyfeat
( ) Q. 15. You are going to obtain iron from hematite ore. Fill in the details in the provided
2A%)) boxes based on the process.
& i. Formula of ore
ii. Method of concentration
iii.  Method of conversion into oxide

iv.  Apparatus used in reduction
V. Reaction occurring in the reduction field

vi.  Impurities present in the ore

T 16. ITTEH qAT ATITT o AR e H 37dT B U 3TAEH o G50l o foQ fong fafer =1
TN BT 22 THSTEY

T\_/ Q. 16. When there is a difference in the relative densities of ore and gangue, which method

is used for ore concentration? Explain.

p— T4 17. R dd18T -

(37) ST TAVRIh STt o HATRUT hT & Fohel ST STTfordt Bt 27
(&) Torer Qe =)t TS et €2

Q. 17. Explain the reasons behind the following -
(a) How is the rate of corrosion affected in highly saline water?

(b) Why are alloy commonly prepared?
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1 18, (37) T forer ernqt o eyl qealt o A faRag)
¢ . i, ST et
ii. GleeT (Tm)
iii. Fforam
() TR T ST o T TEmfes safufsran fafay)
Q. 18. (a) Write the elemental components of the following alloy metals.

1. German Silver
il. Solder

1ii. Magnalium
~ _ (b) Write the chemical reaction for the rusting of iron.
T 19, (37) I o fohegl i STERT o A9 q1 9 faaRag
&< / (&) Cu 3 e hl forega staereHAt faifer =t Amwifepa forr sy

Q. 19. (a) Write the names and formulas of three iron ores.
(b) Create a labeled diagram of the electrolytic refining setup for copper.
ST 20. (3) UTQAT oh TR TN & Feifera e AR o 3eretor S|
i. Tt Y fora STt & &reft 21
ii. ST T A & T B 2
iii. @ %1 TR 3T & Bl 2
T\E/ (&) T 7= &5 g/ CuSO, & Cu fofe Tehr gTd S E?

Q. 20. (a) Provide examples of following reactions related to the chemical properties of

metals.

1. Metals react with water.
i1. Metals burn in oxygen.
iii. Metals react with acids.

(b) Explain how copper can be obtained from CuSO, using a chemical reduction

method.
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FEATT 11 - LTI T A
Chapter 11 - Chemistry Of Non-Metals

El'{-?\lnﬁ'SH%T (Objective Questions):
adl fawmea gﬁ& (Choose the correct option):

1.

frrferfiad # st it Sterq s StereT H a1 STl @ -

(37) FH () IS
EIE (@) TEH

Which metal exists in a liquid state among the following -

(a) Carbon (b) Nitrogen
(c) Bromine (d) Sulfur
ffeTRad o S 91 dca STateqar T e -

(37) difeaw (@) AT
(¥) T (3) BERE
Which element does not exhibit allotropy among the following -
(a) Sodium (b) Oxygen

(¢) Sulfur (d) Phosphorus
freaferfiae & & Saemq 2 -

(37) SATereTST (&) Siferem

() B (@) sTafw

Which is a metalloids among the following -

(a) Oxygen (b) Helium
(c) Magnesium (d) Arsenic

IR T 3T qcdl o TR et Rt it -
(37) 3 Uk qHTUah N ) (ST) THTU] 3T ST BIeT e 2
(5) STEl T O T § W @Il (3) Aok AT H U1 STt 2
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Noble gases do not react with other elements because -

(a) They are monoatomic gases. (b) They have small atomic sizes.

(¢) Their outermost shells are fully filled. (d) They are found in abundance.
T f3Tem T Y 7T i TR T B et A R -

CIEIFEES () TR

(¥) BTEGISH (@) Bt

The gas obtained when potassium permanganate is heated is -
(a) Nitrogen (b) Oxygen

(c) Hydrogen (d) Helium

[ N e N e

frfTRaa Tiearse § 9 foraent Sicfia faee steefiar =i -

(37) Na,0 @) CO,
(#) MgO (@) H,0

Which oxide among the following will have acidic aqueous solution when dissolved-

(a) Na,O (b) CO,
(c) MgO (d) H,O

freferfiad # fore dear sht fereld RuTTcHeRaT derdl 3Tfereh & -

(N @) Cl
®F @O0

Among the following, which element has the highest electronegative-

@N (b) CI
(c)F (d) O
TS o TS S T Bt = -

(3T) STt (&) &R
(&) Ivrreret (3) S

The nature of oxides of metals is -

(a) Acidic (b) Basic
(c) Amphoteric (d) Neutral
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9.
c‘"“/“‘\f"
t/
f\lk\
10.
()
= \“)
&
11.
12.

fofere =got ot Suftufa & areafa oa =1 @ § ufafda Fe weamd @ -
() formregrsHish

(31) BTG ISR
@) FsteftertoT

The presence of Nickle Powder converts vegetable oil into fat. What is this process

called -

(a) Hydrogenation

(c) Dehydration

T TUT UHTZE B s o -

(37) FHTIR
() THETH

(%) TSR

(b) Dehydrogenation

(d) Halogenation

CIEEIEREL

(]) JAIEY

Diamond and graphite are forms of carbon that are -

(a) Isotopes

(c) Isomers

freferfaa & s i 82

(37) AT

(®) TS

(b) Allotropes

(d) Isomorphous

E)ELL

(3) FHfceam

Among the following, which one is different?

(a) Iron

(c) Nitrogen

AT 7o 82

(37) &

(@) fsror 61

Ductility is a property of -

(a) Gases

(c) Mixtures

(b) Copper

(d) Calcium

CIRINE

(%) ST HT

(b) Metals

(d) Nonmetals
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13.
C"“,I}‘U‘J
t/
nlk\
14.
( )\
= \“)
&
15.
16.

frefaiad 5 i 3uarg 2

(37) Fc (&) Cu
(¥) Ni (3) Sb

Among the following, which one is a metalloid?

(a) Fe (b) Cu

(c) Ni (d) Sb

N, S H AN F = s Ifeerd aid o
Cok @)

(®) TR () T ot Tt

In the N, molecule, there are

(a) Two (b) Three
(c) Four (d) None
forrferfiaa o & a7emq <At Ter=fC-

(3) e (&) T
(&) TegHtEm (@) Feaam
Identify the metal among the following -

(a) Carbon (b) Sodium
(c) Aluminum (d) Calcium

1S 9T AT o |y AR R 3= Terie are Afires ffia st 81 g A

ST | Tt 81 I€ dcd &7 & EohdT 27
(37) hicaay () HTel
GGINET] (T) AT

A metal reacts with oxygen to form a compound with a high melting point. This

compound is soluble in water. What element could this be?
(a) Calcium (b) Carbon

(c) Silicon (d) Iron
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17.
C(\“/ll‘\_}“’
tz
f\lk\
18.
( )\
= \“)
&
19.

O hY GISTehdT T B 2

(31 ()2
)0 (@) 4
What is the valency of O?

(a) 1 (b) 2
(c)0 (d) 4

freferfa serefie famma amer aeal § i 31Eq 82
(32,8, 1 #)2,8,5

(@) 2,8,2 @)2,8,8,2

Among the following elements with electronic configurations, which one is a non

metal?
(a)2,8,1 (b)2,8,5
(c)2,8,2 (d)2,8,8,2

HEHT <07 hT 7T ST T SITH 1 AT T5RaT ST fotemsr ok ok T =t

(37) 98 it TeTew™ ot Tt L <l

() TS AT ToTHE i et L |

(@) T o1 fotemd ot h1g germer Teff o)

(@) foTema U et e o aret |1 Stre|

When sulfur powder is heated, what will happen to the litmus paper?
(a) It will turn blue litmus red.

(b) It will turn red litmus blue.

(c) The gas will have no effect on litmus paper.

(d) The litmus paper will first turn blue and then red.
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b
~O ||\_)‘-’
.

f\lk |

eeh T 1 gR BT -

Fill in the blanks:

1

10

T & e o U8 STT-3TeRT &9 fSeh e o - 80 8 e
FEAT g
Different forms of the same element with varying physical properties are called

TS o STITET ...oooovooee e T BISH 31T At 37eqe fompa it
FTera Bt 2l
Excluding the allotrope of carbon, .........ccccoceeviiiiiiiiiiiieiie e, , all other

elements are conductors of electricity.

ST, SIS § ToRaT o ST oo TS ST 2

non metals, by reacting with oxygen, mostly form ...............c.c.ccceeee. oxides.
STETT SATHH H TR FTH oo ik ST

Metals, by reacting with each other, produce .............ccc.......... compounds.
............................. I ... SCICER ShT JUTRAT F ToRAT 3T STHITRIT
AT 2

In the presence of catalyst ........ccccceeeviennne and ....oooevieiiiie , areaction

HH SR ToRIT SROTCHE T ..o gl

The element with the highest electronegativity iS ..........ccccceevveeecieeiieecieeeienns
G foieh sh o 3T ST & & SR G . e T Bl
Granular zinc reacts with an acid or a base to obtain .............ccc.c....... gas
| L 21 OO HTIH ST 2

Non-Metals normally form .............ccccovvennennnee. ions

[EEEIEER T A TR SO T 3T ST BIT 2

Packaged food items often use .......ccccceeevveereennnnen. gas.

HESISEECARCIS KD I fear ST R

The credit for the discovery of hydrogen iS IVEN t0 ........cocvvevveeeciieerveennnenns .
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w{fo>" Match the following:
Bt
(1)

. I IS S

r\lk \/

—_—

. Iyl IS S

N

RN RCIESIES

w

. I TS S

N

A ESINEESICSIES

A
— ) 1. Acidic Oxide

2. Amphoteric Oxide
3. Alkaline Oxide

4. Neutral Oxide

%)

. Hydrogen Oxide

CO
SO;
Al,O;
H.O
Na, O

B
CO

SO3
Al;O4
H.0
Na, O

Freferiaa et @ arq, sreng auT SquTg # it Shife-

Classify the following elements into metals, non-metals and metalloids:

K, Mn, Ni, Si, C, As, O, Hg, ClI, Ge

4Td (metals)

YT (non-metals)

3UYUT] (metalloids)
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~O ||\_)‘-’
.

r\lk |

1.

oY I T e I 0

Short & Long Answer Questions :

frrfarfiad dcl & SiiaTse T FNTEe s sht ST it Egicrd gt fifa-
(1) ETEGISH (2) BIERRH
(3) wifeH (4) Bty

Write the balanced equations for the formation of oxides and chlorides of the

following elements:

(1) Hydrogen (2) Phosphorus

(3) Sodium (4) Magnesium

(37) TTZ2ISI AT BTZSISH hT 19 | STITRAT g1 NH, s+ ot wefiertor farfiam)
(&) AR & STTawash TRiefhat - @l 82

(a) Write the equation for the reaction in which NH; is formed by the reaction of

nitrogen and hydrogen.

(b) What are the necessary conditions for this reaction?
STRITST T ST o wiiforeh Tt bt e ity

Compare the physical properties of metals and non-metals.

(37) 31forg T formg e B, 3k A ferfa)
() 3= ATsHT T AT HaT AT &2 FHIT TATS0-

(a) What are inactive gases, write their names.

(b) Why are they called inactive gases? Explain the reason.

ST FAT3U-
(37) TANTRITAT | AT ST bl I & SR St et § Ushd (ST ST &1 i?

(&) TesaT sig WIS qaTd # ford T8 3T SR FoRaT SITAT @ I 1?2

Give reason-
(a) Oxygen is collected over water in the laboratory in upturned test tube. Why?

(b) Which gas is used in packaged food items and why?
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Frefefan sifufpret 1 qof HIRT

Complete the following reactions-

1 2Mg ) + Oy —

2 3Mg ) + —> Mgz Nz

3 Ha) + Clz ) -

4. Pyg + —  4PClsq)

5 SO, + H, O —

6 CO; + ——* H,CO;

ST 7 H, e e ot farfr s e feiget & stata anfs fifsre-

(1) TETafe TR (2) ArifeRd fomr (3) H, % &1 39T

Describe the preparation of H, gas in the laboratory under the following points:
(1) Chemical equation (2) Labeled diagram (3) Two uses of H,
T 7w sffe § IeaTe 1 g quT T fARau-

Write the formula and name of the product in the given box-

F8304 2Na
~ —>
CuO Mg
Br»
-« L »
2AgCI
STANTRITET H AISEISH T8 ST shi ferfer shr ey feigatt @ o shifere- (h1s2)
(1) rferferar 1 TR (2) THifeRa femr (3) ATEZISH o ITA

Describe the method of preparing nitrogen gas in the laboratory under the following

points: (Choose 2)

(1) Chemical equation (2) Labelled diagram (3) Uses of nitrogen
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10.

r\,‘.\
11.
(" )\
—A \“)
S
12.
13.
14.

THER i il T STEgEie: 3T TR 51T 79 A ot 81 38 1 ATase B &
TSR 3T 38 FhTTT LT H ST hL el 81 STUch ATHIHATST o HHfiehtor qor A T
B & A1 fafay

Zinc, as a reducing agent, reacts with hydrochloric acid to produce gas A. This gas
then reacts with oxide B, reducing it and depositing it in copper metal. Write the

equations for these reactions and the names of A and B.

frefeRaa fsramsherma H, o T 7ot =1 2wiid -
(1) TEISH T & 9 ToaTT 38T
(2) BTESISH & R G o Hg oh ITH STt diefl o ST O 9T 6T SA7aTsT 2t §

Explain what properties of hydrogen are demonstrated by the following activities:

(1) A balloon filled with hydrogen gas rises.

(2) A burning splinter near the mouth of a gas jar filled with hydrogen produces a
popping sound.

(1) TITRITAT H O, 1 fohl T TS STt 82 TieRor ifsig
(2) SATFEIST 6 T TERI( 07 qAT 2 TN feAag

(1) How is O, gas prepared in the laboratory? Provide the equation.

(2) Mention two chemical properties and two uses of oxygen.

(1) ST ATaTse T BId 82 Toheal 3t Suer SitadTset s 3eretv difsry)
(2) =T SATFETEET & YRR SIdTSu-

(37) CO, () SO, (¥) MgO (%) CO

(1) What are amphoteric oxides? Provide two examples.

(2) Identify the types of the following oxides:
(a) CO, (b) SO, (c) MgO (d) CO
T = TRt T0T BT TUEET H i TH ORI QT Seafid 119 T Thael! § Tehi foral
(1) T <t fopam < Biefto
(i) T@ feTerd o W

(ii) 3TT% foTewa ATt qT =fieft o W

(2) ITUTH ATTRATHT o1 TEITh TR fafag)
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15.

Seema heated sulfur powder on a spatula and collected the evolved gas in a test tube.
(1) What will be the reaction of the gas with:
(1) Dry litmus paper
(i1) Moist red and blue litmus paper
(2) Write the chemical equations for the above reactions.
T TraT R ToTerET o AT T ATt qe Sterqe | fove hifsy
(1) 3T a1 fmfor (2) SATFEEE HI TR (3) ST o A foha

Differentiate between metals and non-metals based on their following chemical

properties.

(1) Formation of ions  (2) Nature of oxides (3) Reaction with water

T BT & 3 - (T ok THehoT 2fSTT)

(1) el Sl Topa SATerdiSIT O Bt 27
(2) TeHT T forar ST @ et 22
(3) FTET SEATHATES ST H ot Bl 82

(4) TTESISH T T3haT TS (FAR) | BIA 2

(5) =9 A9 LT ST W ATE2 IS T 5T eTgge & 2l 2

(6) eI e eTEgIor et 3 fivron f Frepe-pfedT o Tl 21
What happens when - (Provide chemical equations)

(1) Carbon reacts with oxygen?

(2) Sulfur reacts with water?

(3) Carbon dioxide dissolves in water?

(4) Hydrogen reacts with halogens (chlorine)?

(5) Nitrogen reacts at high temperature and pressure with hydrogen?

(6) A mixture of oxygen and hydrogen gas is ignited?
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17.

18.

19.

Afireh X FSreerT ST i o foru fomam ST &, o1 pH 7 21 380eh trelt forera o forga
I § TG Y TAT Z 3e91 el 21 Y T ST Z Y g H & AT Frar 21 Y fe
SATRITE Bl & Safeh e § HeRe 2 X, Y T Z i TgaTg, qem siffsmar &
T FHisRT faRag)

Compound X, used for drinking, has a pH of 7. Its acidic solution evolves gases Y
and Z through electrolytic decomposition. Y has twice the volume of Z. Y is highly
inflammable, while Z helps in burning. Identify X, Y, and Z, and write the balanced

chemical equation for the reaction.
gTgeiS o ferRad f=nfies ST ot Tmggy

(M) s EAH () ST shl UTefer § aeata o & fsram
(@) sravta o

Explain the following industrial uses of hydrogen:

(a) In fuel cells (b) In the presence of a catalyst in vegetable oil

(c) In the production of ammonia

Teh dcd A, ST foh TIEH 1 Uk 512 81 T dcdl B © T3hT ek U ATk C SMTAT 21 B U
SIS 9 8l A, B T€T C % T8 TT AMIRAT ST THTAER Sqierd S
fefam

Element A, which is a component of proteins, reacts with element B to form a
compound C. Element B is a flammable gas. Identify A, B, and C, and write the

balanced chemical equation for the reaction.

FefcTRaa stffspamstl st ot hifse-

Complete the following reactions-

L — K:MiOs+ M, O, + O, #

2. NHCley +_ A NaCleg + 2H>0 + Nag)
3. 4NH; + Ny 4 HO

4 +4Hyy ——> 3 Fey + 4H,0(

S. Zne + 2NaOHpgyy —* +H, 4

6. 2H, + O, Wking
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21.

TR 3 o & 37T forew 3t U ke TieT| 3e ke Tttt 3R e foew g i
Yohe ol 37U ST 8T o Uah i U UH & SIS eI ST 2 9HTe & Tatd & o8
36 Yohe 2@ 3N R & @ <Ired off| U aHT 6 S H IHeh ot s Toard!
TiiTg offl 38 < fof ke § g e A1 T off| SH qE 6 hea™ | e o 3R
oY s ot Fore e @ )

i, STe ekl ferew o g Rl T ity

il HET e T Ted ot ot #fiet sig Yendl 9 grier el e STl
i, oootel o for Heat sht v foRa?
Sonia bought a packet of potato chips from the shop. He opened the packet and ate
some chips and left the packet in a corner of his study. After a gap of about 2
weeks she saw the packet and wanted to eat again. At that time his elder sister
Pallavi was present in his room. He noticed that there was a very foul smell coming

from the packet. She immediately threw it in the dustbin and did not allow her

sister to eat the chips.

i.  Why did potato chips start bad smelling?
ii.  Why do sealed packets not smell bad even after being stored for months?

iii.  What values did Pallavi establish?
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T—/

hTE — 3 (Unit- 3) —
AT 16 - BISQIDIe D GI~

Chapter 16 - Derivatives of Hydrocarbons

a'{:gﬁrgtrar (Objective Questions):

1.

TS TR T T 2 -
a) CH3;OH b) C.HsCOOH
¢) CH;COOH d) C,HsOH
The formula of Ethanoic acid is - P
a) CH;OH b) C;HsCOOH N
¢) CH;COOH d) C,HsOH -
SOt H foReTensh 9rE © - S
a) >C=0 b) -OH
c) -CHO d) -COOH
Propenal contains a functional group —
a) >C=0 b) -OH
c) -CHO d) -COOH
UEfifeen steet o Toha wferera ferera i ferent e ST 2-
a) 2-3% b) 3-4%
c) 13-14% d) 8-10%
bort!
What percentage solution of acetic acid is called vinegar?
a) 2-3% b) 3-4% Pan
c) 13-14% d) 8-10%
3fersh TTAT § TYHTE ST TS S IR hiH-|T T o= TTfard BT 82
a) Thd b) e difret @
¢) AT d) gt
Excessive consumption of ethanol affects which human organ?
a) Liver b) Central Nervous System
c) Eyes d) Teeth e A
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a) IT Ueehlaiel b) TS Ueehieiel

c) it eenlEiet d) BT

Alcohol that is free from water is called -

a) Power Alcohol b) Absolute Alcohol

¢) Spirit Alcohol d) Hexanol

UEifesh 317, |15 H,S0, 3 T UeahlgTer o §TeF f5RaT shieh ST -
a) I DEIEIEEIRERE: )

¢) T&X d) THIzS

Acetic acid reacts with concentrate, H,SO,, and ethanol.

a) Ketone b) Carboxylic Acid
¢) Ester d) Amide

UTHTRTCT T STTeeh ST T T SHRVT S HehelT &, AT I8 BT Tl & -
a) T&T ! b) HES T

¢) Wi ol RETED

Excessive consumption of alcohol can be fatal because it harms the -
a) Heart b) Lungs

c¢) Brain d) Liver

IE 3G TR BT & TSTHeRT ST Hehle, TATee: UTey, RUSsT T S A IaT 2 -

a) TTeTef b) THA

¢) TS FANEE d) SheITEE
This is a tough plastic used in making raincoats, plastic pipes, handbags, etc.
a) Polythene b) Teflon

c¢) Polyvinyl Chloride d) Bakelite
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9.
C"“,I}‘U‘J
t/
nlk\
10.
()
= \“)
&
11.

IR, Tt o ek o &9 | IUF0T T © -

a) TS Ueanigtet b) BforeT Teehratel
¢) Ui et d) wHieH

It is used as vinegar in pickles and chutneys.

a) Ethyl Alcohol b) Methyl Alcohol
c¢) Acetic Acid d) Acetone

SHA TG € -

a) forTeet Feitree b) TR R
¢) g1 Ay Tferei SRSIECIC

Teflon is a polymer of -
a) Vinyl Chloride

c¢) Tetra chloroethene

UCEHTETCT <h 3hATCHe: T[T € -

a) -CHO

¢) >C=0

A functional group of Alcohol is -

a) —-CHO

c) >C=0

IS T 3cq Ll & -
a) gSIeT o Tl

¢) EHE 1 A

Soaps produce lather with -

a) Soft water

c¢) Sea water

b) Tetrafluoroethylene

d) Glycol

b) ~OH

d) -COOH

b) -OH

d) -COOH

b) TR A o Y
d) 3uh gt

b) Hard water

d) All of the above
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13.
C"“,I}‘U‘J
t/
nlk\
14.
()
= \“)
&
15.
B 16.

TTS T TERA G
a) CH,OH b) C,H,OH
¢) C;H,0H d) CH,CHO

The chemical formula for methanol is -

a) CH;OH b) C,H;OH

¢) C;H,0H d) CH,CHO
ifHfer TR T THTATH G & -

a) CH;COOH b) C,H;OH

¢) HCOOH d) C;H,COOH

The chemical formula for formic acid is -

JC

&

a) CH;COOH b) C,H;OH

c) HCOOH d) C;H,COOH
ST T -

a) Sl b) JFATT
SEERSIE] d) &=

Natural polymer is.

a) Terylene b) Teflon

c) Cellulose d) Rayon
USRS geTel o 9 T (e § ST ST @ -

a) ISt TehIETet b) Tfiefi Tetrgehict
c) Tferet TehTETe d) TEfifesh steet

In Radiators it use is ethylene glycol as an antifreeze agent.
a) Methyl Alcohol b) Ethylene Glycol
c¢) Ethyl Alcohol d) Acetic Acid
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17.
c‘"“/“‘\f"
tz
f\lk\
18.
( )\
= \“)
&
19.

1

a) [EQCE] b) T=AT

) TS d) sfferefierton
Ethanol is industrially produced by the ..............c.o....... method.
a) Fermentation b) Reduction

¢) Combination d) Oxidation

ot &t &Y. 1 Ut © -

a) TiferT b) Tfefee

¢) SYITSTSEA R)NEEIERCIINESS
PVC stands for -

a) Ethylene b) Acetylene

c¢) Butadiene d) Vinyl Chloride

.................................... TTE UeehIgiTedsh 1e ATl 59 -

a) TAATT b) Ve o7t

C) Bt 3T d) T
.................................... is a colorless, alcoholic-smelling liquid.
a) Methanol b) Acetic Acid

c¢) Formic Acid d) Acetone

Tk ot <t gfd HIRAT (Fill in the blanks):

HCOOH ST TUPAC AT oo, H
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Invertase, zymase, and maltase enzymes are obtained by .........ccccceeveeereennnenn.

5 TohIa ol Yot ST TehTient sht IUTkerfa o STTFeROT @ T oo EEIn)

2l

Alcohol undergoes oxidation when exposed to strong oxidizing agents, resulting in

6 e, forerfea = 2 3 sror we Sfiae o arfefturfes oo s gurferd st

10 OIS qT UIHT BT ST L., FHEATdT 2|
The mixture of gasoline and ethanol is called ............cccoceeneennenn.
Y I T el 390 04

Short & Long Answer Questions :
1. TS o QIS TR H TG ol ST TeRtor TR T Fhgd o2
Why is the conversion of ethanol to acetic acid called an oxidation reaction?
OR TE{IHUT T &2 il STy

What is esterification? Provide the chemical equation.

2. I 3T fhY hEd 87

What is a biological catalyst?
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Ttk UeshiRTet T &2
What is a power alcohol?
IEEARERANE AR DIRY

What are denatured alcohols?

FAT T S -

What happens when -
i. QT ol |iE T fieh 3Tt ol Sufeerta H 1T ferar Sy

Ethanol is heated in the presence of concentrated sulfuric acid.

ii. 3 ¥ e fyeam sy

Yeast is added to the sugar solution.

MR CEIEIEGINETUE KN,

What is decarboxylation?

Teh shTsi{eh ATk 'A' 3T JUEA C,H,O & TH IcHeh dlsl ohl Sufeerfa H g # SHierefieptor

S0 98 CH,COOH ¥ uftafda gt Sirar 81 Afirer A = 22

The molecular formula of an organic compound 'A' is C,H¢O. It gets converted into

CH;COOH by oxidation in air in the presence of hot catalyst copper. What is

compound A?
TIHTS © T 8 9TH hill?
How can ethene be obtained from ethanol?

frferfiaa Trami-re geteRtor <t o i -

Complete the following chemical equations:

(i)
(ii)
(iii)

C,H,COOH + ? — (C,H.COO) Mg +H,

CH,OH + CH,COOH — 7+HO
CH,COOH + Na,CO, — 7+ ? +CO,
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9.

10.

1.

12.

13.

14.

15.

16.

it TRt | HHIRIEH B HH SHTET? Hqferd TEmi-en wHisr fdfay)

How can magnesium formate be prepared from formic acid? Write a balanced

chemical equation.

Tforet o AU qeteht § -COOH fsharenes @g Siigsht - aTel AMfieh! 1 & To
IUPAC ¥ faiiay)

Write the structural formula and [IUPAC names of compounds formed by adding the
-COOH functional group in ethyl and methyl radicals.

3R fordt hEd 82

What is meant by molases?

Y T Ui i T 3= o dieiefig o 2-2 g fefiay)

Write the uses of low-density polyethylene and high-density polyethylene.
GTe RETeh o 9 H JART 8 aTct & 37wl o 19 feaiag)

Write the names of two acids used as food preservatives.

T BIAT @ Sfe -

i. THfesh 37vct ot foRa shificeh @reT & i 2

What happens when acetic acid reacts with caustic soda?

ii. HITE 7T hioIEH EESIFATES o T R ohtaT 2
Methanoic acid reacts with calcium hydroxide.

iii. WEfifesh o17eT, TS § foram shtar 2

Acetic acid reacts with ethanol.

firemgeiee feufe s 22

What is methylated spirit?
C,HO o "Tford qeTerIfor o dtarrersh ¢ fafiay)

Write the structural formulas of possible isomers of C;HO.
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17. G o o U et A o fore 36 |ifeem 1 Zohel S R I fa U 1 e
c“‘j,ll“;‘ Tt 2 ek ure wnfe Shl STtedl diedt of ST 9% 79 sht 3A1aTsT 37Tl /, 36 fomam o fog
e et TefieR S ue A 31t B w1 9 g forfa

Sunita had two compounds, A and B. She added a piece of sodium to both and
observed the evolution of gas in both cases. When she brought a burning matchstick
near the gas evolved, a popping sound was heard. Provide the chemical equations for

these reactions and write the names and formulas of compounds A and B.
18, Fafcrfad gefisron s qof o -

Complete the following chemical equations:

5 cHoH TR 5 L HO
Oxidising agent

ZAW) CHOH ™. 2 LHO
L ~ = Oxidising agent
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A 17 — ofId ofilad d =

Chapter 17 - Chemistry in Daily Life

FEIE TH (Objective Questions)

1.
] ) 2.
= \“)
=
3.
E
4.

e I fifSa s & fore 3w forar ST & -

i. CaOCl, ii. Ca(OH);

iii. CaS041/,H20 Iv. CaCOs3

Used to bleach clothes -

i. CaOCl, ii. Ca(OH);

iii. CaS041/,H20 Iv. CaCOg3

HISTERTOT ShT T5RAT H ST To TN TET T v Y SA9Efed Fd B-
(1) 3= (i1) =TT

(iii) & (iv) IO

In the process of soap onification, animal and vegetable fats are converted into
soap with the help of -

(1) Acids (i1) Salts

(ii1) Alkalis (iv) Catalysts

|1 o faget fmior | st | faetsr wrr gt e -

()R (ii) -COO

(iii) RCOONa (iv) Na*

In the formation of soap micelles, the following part is soluble in water -

()R (1) -COO

(iii) RCOONa (iv) Na"

e | SRRy siiearse fiem ot i o1 &1 e 8T | -

(1) Tt (ii) T

(iii) BT (iv) e

When chromium oxide is added to glass, which color is obtained? -
(1) Red (i1) Blue

(ii1) Green (iv) Yellow

66

&

o



AT 3T IR HS &Y AT 2 -
(1) CaCl, liberated (i1) CO, absorbed
(111) Water absorbed (iv) Water liberated

Plaster of Paris hardens due to -

(i) CaCl, liberated (i1) CO, absorbed
(111) Water absorbed (iv) Water liberated
TR waref STt STet Rt ATV S o foT SR BT & -

(1) CaCl, (i1) CaOCl,

(ii1) FeCl; (iv) MgCl,

A chemical substance used to purify water from bacteria is -

(i) CaCl, (ii) CaOCl,

(iii) FeCl, (iv) MgCl,

Hferer 3 Hfifrm o for AeoT o 9ot 8 & STot § TRl SaRdT 397 Bl € -
(i) FTeITE (i) TTEEISHHTE IS

(iii) FARTZS (iv) Efezm

Permanent hardness in water is produced due to the presence of which salts of

calcium and magnesium -

(1) Carbonates (i1) Hydrogen carbonates
(ii1) Chlorides (iv) Sodium salts

ferisTeh <ot =1 aTg o Gt Sie T b Hf 19 fHeherd @ -

(i) ST (if) g

(iif) T (iv) TTEZIoT

When bleaching powder is exposed in air, which gas evolves? -

(1) Oxygen (1) Nitrogen

(i11) Chlorine (iv) Hydrogen
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9.
c‘"“/“‘“q
t/
r\,‘.\
10.
()
= \“)
&
11.
E 12.

i< IcqTe | U7 IgM a1t Uerd S fireie Sid @ -

(i) Tifgam Fralie (i) forerrst

(iii) TNefImm Hrei-e (iv) Fiezray faferere
The bleaching substances added to glass production are -

(i) Sodium carbonate (i1) Litharge

(111) Potassium carbonate (1iv) Calcium silicate

AT 1 TSR S 3 oA et e 3 -

(i) fafee ot (ii) TR e
(iii) TfEAH BTEUT SARNEIZE (iv) hicgrem fafershe
To make iodized salt, which compound is used for this purpose? -
(1) Citric acid (i1) Potassium iodate

(ii1) Sodium hypoiodite (iv) Calcium silicate

i<l ol T THTAT T T ¢ -
(1) xRO. yMO. 6Si0, (i1) xR,0. yMO. 6Si0,
(ii1) xR,0. yM,0. 6Si0, (iv) xR,0. yMO. 5Si0,
What is the general chemical formula for glass? -

(1) xRO, yMO, 6Si0, (i1) xR,0, yMO, 6Si0,
(iii) xR,0, yM,0, 6Si0O,

forSTer <[0T o1 TERITeh 1] T § 2

(1) hicerm ArFHaage

(iv) xR,0, yMO, 5Si0,

(2) HiIIH FARTZES

(3) hicIrm AT
What is the chemical name of a bleaching powder?
(1) Calcium oxychloride (2) Calcium chloride

(3) Calcium oxide (4) Calcium oxyfluoride
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13.
c‘"“/“‘“q
iz
r\,‘.\

14.
()

= \“)

&

15.

ahiar o1 1, e, forg Tremarfaes waref it firem o g 2
(1) shiferem Siiearse (2) B SierTgS
(3) TSt SRS (4) Fetay gehige

Which chemical substance is used to impart a yellow color to glass?
(1) Chromium oxide (2) Copper oxide
(3) Manganese oxide (4) Cadmium sulfide

STeT hl TATA ST hicwrm 3T =Ry o for 9ol o FRor et € 2
(2) FHHE, ATEHISHE AT
(4) TR, IFSTTE AT

(1) FANES, The A0

(3) FANEE, FHHE AU

Permanent hardness in water is produced by the presence of which salts of calcium

and magnesium that don't lather with soap?
(1) Chloride, sulfate salts (2) Carbonate, bicarbonate salts

(3) Fluoride, carbonate salts (4) Bicarbonate, iodide salts

(2) FTEHE, ATEHTAE AT
(4) Tifyrerm = Hfsrem
Soap are salt of long-chain carboxylic acids, with elements ------- .
(1) Calcium or magnesium

(2) Carbonate or bicarbonate salts

(3) Sodium or potassium

ey shratse il sieT @ foram e 9T e ot 7 ferard) © -
(1) Tferefia (2) wEifeef

(4) Magnesium or cesium

(3) FAT (4) FTETSTSIHATFETSS
When calcium carbide reacts with water, which gas is evolved?
(1) Ethylene (2) Acetylene

(3) Chlorine (4) Carbon dioxide
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17.

18.

G T HIS 3l TH L T i € 71 eherd & -

(1) e HHTHATFTES (2) e SESTFATEE

(3) FARA (4) BT

When baking soda is heated, which gas is evolved?

(1) Carbon monoxide (2) Carbon dioxide

(3) Chlorine (4) Methane

Ffczrm wmreie do fyferen Y foram @ s sHaT 2 -

(1) Hfezrrm SAwaTEe (2) e ATt FiNEe
(3) e fafersre (4) S FregTTEe

What is formed by the reaction of calcium carbonate and silica?

(1) Calcium oxide (2) Calcium oxychloride

(3) Calcium silicate (4) Calcium hydroxide

SifehTT qTSSR fohet waTeIt ot feor & -

(1) @ T ST T TR 378 (2) 9 =T HIeT F THifdH o7t
(3) WifHek T o WH T HIST (4) 91 T AIST F eI FANES

Baking powder is a mixture of:
(1) Baking soda and tartaric acid (2) Washing soda and acetic acid

(3) Formic acid and baking soda (4) Washing soda and calcium chloride

TRax =1 TR AT 2
i. PbO ii. Pb;0,
iii. PbO, iv. Pb(OH),

What is the chemical formula of vermilion?
1. PbO i1. Pb;0,

iii. PbO, iv. Pb(OH),
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Stera water AT (Match the following):

(1) Bleaching powder

(2) Baking soda

(3) Washing soda

(4) Sodium chloride

(5) Glass

(6) Mixture of silicate and aluminate
(7) Cement

(8) Solve method

(9) Plaster of paris

(10) Water gas

71

(a) Clinker
(b) Supercooled liquid
(c) Preservative

(d) Bleach

(¢) Glass manufacturing
(f) Antacid

(y) Na;03.10H,0

(r) CaS04.1/2H,0

(1) CO+H,

(v) Sodium carbonate
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feem wort it afd <FIRAT (Fill in the blanks):

t(:/ 1
r\,‘.\
2
3
4
( N 5
= )
&
6
7
8
9
10

........................................... T S I AT ST UTGE ST 2

Plaster of Paris is formed when ..........cccccooeeiiiiinninicns is heated.
........................................... ST SUANT i, g1 U TS ST AT
........................................... is used in the production of glass, soap, and paper.
S RGO 1 2 &

Water is a universal .........ccccoeeeeviieeiiienieeenee,

........................................... SRR ®|°h‘:\| SEIN ﬁ aldl %'
........................................... is used in the bakery industry.

T o QT STRITER BT R oo L R |
There are two natural sources of salt: .o, and
i<l T Z& | ST o TIT oY - efiX ST ot T ToRaT e HEATd! 2l

The process of gradually cooling glass to prevent it from shattering is called

FITST I | 1Y cgllq"lé?i?:lwﬁ ........................................... T TN BIdT 2

In the paper industry, wood pulp is used in the pulping process, which involves

........................................... 5121 SOOI i | I o o I B e R I
forera ume gt ?1

........................................... and ........cccceeeeeeiieeeieeeeee e, TEACt in water to obtain a
rehydration solution.

........................................... 1 farf3Te oAt 31freR B % T THHT STFT HR o et
T e ST 21

.................. due to its specific heat capacity being higher, it is used in radiators.
...................................... T U2 hT STEAIAT b1 h i | TTsTreT o &9 T U el 2
........................................... is used as an antacid to reduce stomach acidity.
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11

12

13

14

15

16

........................................... fafer grr wifeaw erggieT reliae s/ ST 2
Sodium hydrogen carbonate is prepared by the ..........ccceeeveeviiiiiieeiieeee method.
........................................... I ST o A1 HT I el Hd |

........................................... does not produce froth foam with hard water.

A ETT FATTEE oo % &9 4y foram S )

The common formula of glass 1S ........cceceeeiieevieeiiicciieeee
2 G T 5 S TR T P B IR E, e e 8

Broken glass pieces, which are used in glass manufacturing, are -called

oY ITIT I : 2 3k

Short Answer Questions: 2 Marks

1

P TS ?

What is eftlorescence?

ST TS R E 2

What is baking powder?

ToF e T[0T o ST TATERT AT YT 3T SRITT 221 giedt i f¥or T | fopar Siar 82
Due to what property is Plaster of Paris used for setting broken bones?

e fafer & freTe S aret i et o A1 fafam)

Write the names of the three substances mixed in the Solvay process.

Hitie 1 e a7 g & i 2

Why is the melting point of cement not fixed?

ST UT3et T fore TenTe Sheh XA I TSI ST @ 2

How does baking powder create soft and spongy texture?
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10

11

12

13

14

15

16

e TmToT 7 Shete AT ST T FoRalT STTaT & 2

Why is the addition of cullet essential in glass manufacturing?
I | S fefiepa 8 2

Is soap biodegradable?

foretent ot aftmeT € 2

Define a clinker.

TTer TR B after o1 e 3 et o - i 38 o 2
How do organisms survive in icy regions in lakes or river water?
oY I T : 4 3R

Short Answer Questions: 4 Marks

TATEST AT U ¥ ST & 2 39 el fesat # ol T S € 2
How is Plaster of Paris made? Why is it stored in airtight containers?
FAR ST i T & ST i 0 A o (10T hT AT ?

Explain the formation of scum when hard water is treated with soap.

STl HTS[ shi STt H STRAT ST & ol fored oh frafor <R gieft €2 ohim weiet Sie gat feretrrehi
4 oft fereret shr fmtor g 2

Why does micelle formation occur when soap is added to water? Will micelle

formation also occur in other solvents like ethanol?

TS JENT o IS T A7 15T ? I8 fohe b i g € 2
What is the byproduct of the soap industry? How is it produced?
a1 T feesie # sia fafamy

Differentiate between soap and detergent.

AT BIAT &

(1) i FHIATES SToT § STITHAT AT 2

What happens when calcium carbide reacts with water?

(2) |1 |l o ThEeal sl ATy H GeTl B faar ST € 2

When washing soda crystals left exposed to air?
(3) Bifead Fretae i T frar Srar & 2

What occurs when sodium carbonate is heated?
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17

18

19

20

21

(4) 7% T3 T I T FAL T8 FTied ohi et @ 2

When chlorine gas is passed over dry slaked lime?

TSR0 3 ST hIfS|

Explain soap nification.

e fmior & aftafera Temafe geien @i fafag)

Write down the chemical equations involved in cement manufacturing.
I 10T 3 SR e wfierr fafian)

Write down the chemical equations used in glass manufacturing.
JATHTSIR, T ST § oft vl Eran & ==y 2

Why is a detergent effective even in hard water?

ST hl TATT U STEATT ShaaT H i feflay

Write the difference between permanent and temporary hardness of water.
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3T — 4 (UNIT - 4)
e - 3 9 18 (Chapter — 3 & 18)
ST TS dT9, Hiil: L%y Us i

(Heat and Temperature, Energy and Source)

1 3k ATt U2T (1 mark questions):

1.

IS T S.] ... BT R |
The S.I unit of heatis ..........
25°C AT HTHFF H.......... BT S |
The value of 25°C temperature in F is ..........
T T3 AT H =aH q19 FTAM........ BT R |
The value of minimum temperature in Fahrenheit scale is ..........

6 BT3e I | ITfRrehad A HTAM. ....... BT R |

The value of maximum temperature in Fahrenheit scale is ..........

1 T © T BT GATe e
1. &R 2.FFS 39T 4. 9m
Which of the following is a good conductor of heat
1. rubber 2. wood 3. iron 4. wax
ST Hero <t 3R fafer o aremm strevere T ST -
1. =T 2. "I 3.fafrmr 4. FIE R
In which method of heat transmission the medium is not necessary —

1. Conduction 2. Convection 3. Radiation 4. None

The value of absolute zero temperature is
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10.

11.

12.

13.

=A%) 14

15.

IS B TETAT § HSHT ohT G=L0 T ENT R |

Transmission of heat only in solid is possible by

ST STRAT T SISFTS ... BT 2 |
The SI unit of heat capacity is ..........
fafis s SIAE BT S |
The SI unit of specific heat is ............
LRt U

The source of energy within the Sun is

HIT ST ol T et | seerdl g

converts solar energy into electrical energy.

fore 1 wut Sett 1 &G ?|
The source of all energy in the world is
SR T T e ?|

The main component of biogas is

2 3¥eh ATt I27 (2 mark questions):

1.

40° C ! T BT< H sefeTT

Convert -40° C into Fahrenheit.

. -40°F &I C H seferT

Convert -40° F to C

. STSH ST TTW AT ohi THTTN hIT |

Define latent heat of vaporization.

. T 3T 76 ST ol TRATIG shiT |

Define latent heat of fusion.

. Tororeft & S ot T ShT SieTT ol SeT ST @ 2

Why are the electricity and telephone wires tied loosely?

farfzre Sear 6 uftm forfag |

Write the definition of specific heat.

I

method.
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7. ST AT & 37T T THEd ¢ |
What do you understand by heat capacity?
8. SSHT E=uT 3t 1 farfera et aftiee it
1. =T 2. HelR 3. forfertor
Define the following method of heat transmission:

1. Conduction 2. Convection 3. Radiation

9. AT , BAETEE I FHica YA T AR o SR |

Draw labeled diagrams of Celsius, Fahrenheit and Kelvin scales.

10. 12K " afewsw o yiafda Sifse |
Convert 12K to Celsius.
11, 9 & 9 T[T 30T 6 916 & ST 8 6 T A |

Why does a balloon filled with gas explode when brought near a fire?

12. St sht faf3re st o a1 3wt fafau |
Write two uses of specific heat of water.
13. R Sl o & o1 forfiay)
Write two benefits of solar energy.
14. TS TS STERE § i & $E 71T SR
Which fuel is better than LPG and biogas and why?
15. Tefifehd it G T 27 IaTel0T S|

What are renewable energy source? Give examples.

16. TR STl AId T 82 ST Sy

What are non-renewable energy source? Give examples.

17. 9a 3ottt &1 € fafa

Write two limitations of wind energy.
18. TS ¥ Icq= 8 dTedl St o A feffay

Write the names of the energy generated from the sea.
19. Sframes $o T 22 Sare ey

What is fossil fuel? Give examples.

20. HIT S T I 7 e ferfiay

Write the difference between solar cell and solar panel.
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3 3feh aTet I27 (3 mark questions):
. =1 = wfeaya Fifser

Define the following:

Coefficient of Linear Expansion, Coefficient of Area Expansion, Coefficient of

Volume Expansion

. Zat § S TER fohe SRR BT R |

How does thermal expansion take place in liquids?

. YT ST IO o & e T | gy il |

Write the relation between coefficient of linear expansion and coefficient of

superficial linear expansion.

. T T TR o SIS 0T H Hve= SATUd shifer |

Establish the relation between coefficient of linear expansion and coefficient of

volume expansion.

. e O i JER fohae Tehr o grar © 2 fefa

How many types of thermal expansion take place in a gas? Write.

. AR foree | AThehia o H S fafy

Write the difference between nuclear fusion and nuclear fission.

. I et T AR ot S5

Draw a labeled diagram of a solar cooker.

. T ferdeT stfifran w1 soer afteRtor wfed fafiay)

Write the nuclear fission reaction along with its equation.

. ER et T Wi EdE T HTAT Y T a7 o] Fi?

Black paint is applied on the inner surface of the solar cooker. Why?
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\
S N
.

ghTg -5 (UNIT - 5)
o LA™ - 10 T 13 (Chapter — 10 & 13)

TRTIT: A U AU d, T U e 1 dag &

Light: Reflection And Refraction From Plane Surface

1 3k ATt U2T (1 mark questions):
1. 3 0T T AT BISAT +30 em 2 | IHhT ik 4 2t -
1. 30 cm ii. -30cm
( ) iii. 15cm iv. -15cm

) The radius of curvature of a convex mirror is +30 cm. Then its focal length is -

& 1. 30 cm ii. -30cm
iii. 15cm iv. -15cm
2. e T 3h HiRE g SHIT BN &
1. YTcH IRENIRIED
iii. ¥ iv. 1g &
The focal length of a concave mirror is always -
1. Positive ii. Negative
E iii. Zero iv. None
_ 3. gudc gqur 3t kT e Bl | —
1. YTcHb 1.
iii. iv. ZRUTTcHSR

The radius of curvature of a plane mirror is —
1. positive 11. zero

1ii. iv. negative
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4. TE o TrerTar FeT 8§ & o 8 SR e © -

{jti‘f"‘“‘ i, ST o vt o i, ST o7 T T
4 i, ST & HTTE BT iv. S O R
In Reflection law which the following angle are equal to-
i. incident angle and emergent angle ii. incident angle and reflection angle
iii. Normal and incident angle iv. None of the above
5. STORTRT o TS oh! HeAT H e § & &l €T TRT S9iatad &l & |
i, qted ii. e
iii. AT iv. =
( ﬁ\ ) Inthe event of refraction of light, which of the following quantities remains unchanged.
=A7)) 1. Wavelength ii. Intensity
S iii. Frequency iv. Speed

Tk Tore &Y gt I (Fill in the blanks):
1. T ST AT 8 GEL ST HTE STt R e ... FEATATE |

The bending of light rays from one homogeneous medium to another homogeneous is

called ..........ccc......

2. T TRiTerehT e ST ST RO R |

The scientific reason behind the phenomenon of mirage is .................

The mathematical expression for Snell's law is ..........
4. e, T IR A FHEATAT § |

........... lens is called diverging lens.
50 e, A AR G e R |

.......... lens is called converging lens.

6. I G GRT ST Ao T ... BT R |

] The image formed by a convex lens is generally ..........
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7. I 4T g ST Ufdfsr @ ... AT S |
The image formed by a convex mirror is always ..........
8. Ifadel O R ST Tfdferes @2el ........... BT |
The image formed by a concave lens is always ..........
9. ITIde UUT G ST Tfciforee AMH=IE: ... TS |
The image formed by a concave mirror is generally ..........
10. U T8 I IR G -15 om & | T8 T ... 7 |
The focal length of a lens is -15c¢m. This lens is ..........
11.+10 cm 1o 3L Tt 1 oh1 T ... B 2 |
The nature of a lens with +10 cm focal distance is ..........
12. G H AT HTHAHAS ... BT S |
The unit of power of alens is ..........
13. Toh oI ohl 1T -5D & | oiF ol BIE Gl .......... il
Power of a lens is -5D. The focal length of the lens will be ..........
14. o 1 S8 g +10 cm & | 9 <l &1 ...... B |

The focal length of the lens is +10cm. The power of the lens will be ......

15. Mt gqur Y ashal BSATHTAHF ... ........ 8

The unit of radius of curvature of spherical mirror is .....
16. Teh i@ FeTTEI TehTeT fohTolt 2l Teh foig TT shivsd htdT @ | e o1
A lens focuses light rays to a point as shown in the figure. Name the lens is

L—

—»
X
—»
17 e, Tt 3 fIU AT 1|1 1 99 U A FH AT R |
The value of magnifying power for a mirror is less than one.
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18. Th © Afereh STTarel o arefl 4T ... e
A mirror having magnifying power more than one is .............

19. Ueh 9] IqA ¥ o GHE Wik oL ferq @ | Sifaw wfdfor ......... T |

An object is located at the focus of a convex lens. The final

The side mirror used in vehicles is .............
21, 3+ O Teord q) T I QU GRT SR TRAT Wfdfor ... AT |
When object is at infinity the image formed by a convex mirrorisat........................
22. TG M T A Th T ......... 2|
The mirror used for shaving is ..........

23. YERIRT T ........ 70T STEhTRT o TS ohl ST H AN d T & |

The ................ of light remains unchanged in the phenomenon of refraction of light.

24, IHHIA TaE I Ueh Teh1aT foRTT 60° o shivT 9T ATafed foRam foham STTar @ | 9ererd = Shior st

A light ray is incident at an angle of 60° on a shiny surface. The value of
the angle of reflection will be ..........

3 3feh aTet I9T (3 mark questions):

1. = =l afrioe hifs

IEETINERD]] 2.99 3. wiewd gt
Define the following term -
1.radius of curvature 2. pole 3. focal distance
2. I ¥ o TeA e fearferart o areq) =t widforat svgl o s |
fortor o1 3T wefita s |

1. % G o BIRE I T5hdT kg o HET &
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2. % HIE WA 3. T A WE

b
~O ||\_)‘-’
.

BN Where will the image of an object be formed in the following situations for convex lens?
Show it with a ray diagram.
1. The object is the between the focus of the lens and the center of curvature

2. the object is at focus 3. the object is at infinity
3. T Tt 3 3T ferfae —
1. 3Tare aqor 2. 3 g0 3. FEd a9

Write the uses of the following mirrors:

1. Concave mirror 2. Convex mirror 3. Plane mirror

4. e guuT foRd shed © | 38 TR foTasht Iedish ohT Ush Uk 39T fafa |

( ) What is a spherical mirror? Write types and use of each one .

— ) 5. Tog Hifor et o i e i Saht ashar Brear b STt Bt R |
&

Prove that the focal length of a spherical mirror is half of its radius of Curvature .
6 gewesll o qranfl # AqT ffay |
Write the difference between microscope and telescope.

7 =\ Y ATl et s aieTia Shifsrer e st faRa |

Define the magnifying power of lens and write its expression.

8 Tortor 3T g SRS fo Svaraat quvr gry o Reerfoit 7 aeq o widiforar fore wahme 9 gt
O ST |
E 1. I 3T I ToAT 65 o 1= &l
2. TSl o] BIhH feig o g % WEA &
Show with ray diagram how and where will the image of object be formed by a concave
mirror in the following situations-

1. The object is between infinity and the centre of curvature

2. When the object is between the point of focus and the pole

9. UF I I I BIHH T 10 cm | TH 2 om RIS H G @9 F 15 em FH W@ 2 |

T8 BT &1 Wfcrferat ot yefer , Rerfa & oT1ehr Jma i/ |
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The focal length of a convex lens is 10 cm. An object of length 2 cm is placed at a distance
el

t\/ N\ of 15 cm from the lens. Find the nature, position and size of the image formed by the lens.
: 10. 90T AT T fhH FEd @ | 3T ISTEX0T 3okt FHEATST |
What is total internal reflection? Explain with two examples.
1. RoT feAfle -
1. T & ST 3T e SHeRdT T 2 |
2. aree & feora Heeht a€t TEt Bt STet foas w9t @ |
3. 9T & W Sfie T GTed! TEelt o st T W hals & G0 THHeR [TETs 3T g |

Write down the reasons —

-~

( N\ 1. An air bubble appears to glow in the water.
\ 2. Fish located in the pond is not the same where it is seen.
. > / 3. When an empty test tube filled with water is placed diagonally, it appears shiny like a

gale.
12. 3T9adih e B & | S8 ThT foTaeht Tedieh shl TRTIYa hifse |

What is the refractive index called? Write its type with definition of each.

13. If ST T TR 1.33 AT il T STYdHieh1.5 BT ST o GTI&T Shi<l ohT TTIdTh J1d
FI |

If the refractive index of water is 1.33 and that of glass is 1.5, find the refractive index

of glass relative to water.
T 14. 71 =1 e fafau |
1. 9T 5 T feeet S 3o gaTT fewan 1 |
2. AT o TG ST Wl i ol 2 qel 88 feEd! ¢ |
Give reason for the following.
1. A coin placed in water appears to be raised.

2. A glass rod placed slanting under water looks bent.

15. JehIST o 3qada o1 fam fafau |

Write the laws of refraction of light.
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16. T o T H o1 wierent forer SITieh ST % IaTENT & | 38ehT A1 [TRIT & 39 2q 30 T
t(: W fefaw |
In the summer days, the mirage is an example of which scientific phenomenon? Write

its name and conditions.
17. 3T9ac ht ST 8 T3 sl afeivyd o |
1. STTIA 0T 2. 39 i 3. T =

Define the following in phenomenon of refraction.

1. Angle of incidence 2. Angle of refraction 3. Snell's law

18. 3hifcrer ahivT ford shad © 2 frg AR |
(N =1/Sin,  ETic = Fifw FOT
ZA)) What is the critical angle? prove.

L ~ = U, = 1/ Sin;, where ic = critical incident angle

B
A TEEELLEELEELEEERIRRNRANRRRRRNNNY

19. UEdH S g2ATH AB, OB d BC Rl AHifhd Shifsr

i|lr

Name AB, OB & BC in phenomenon of reflection.

0 C

A
20. 3T ST , THA GUUT I 37T GUUT ohl Ueh-Ush ToRIsaTd o SUanT feafiau |
Write the characteristics and uses of concave mirror, plane mirror and convex mirror.

21. Y01 TN TE ¥l e & ? 30 Ty

What is total internal reflection? Write its conditions
— 22. YT o qLreraH o fem fafau |

Write the law of reflection of light.

23. Shifceh ShIvT fhH hEd & 7 SHehT THId i oTel sk A |

What is the critical angle? Write the factors affecting it.
24. q H ot wE 2 faat © [geeRt Aqfes wRoT R T |

A rod immersed in water looks bend. What is the scientific reason for this?
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5 37k 9T I3 (5 mark questions):

RN 1. e fhH e & | TS ST H TehTRT sht ATt 3X108 m/s & a1 ki< H SFehTRT 26l =Tet &t
|
What is the refractive index? If the speed of light in air is 3x108 m/s then what will

be the speed of light in the glass.
2. T T {590 T & 2 SHhT ik [ |

What is Snell's law? write its expression.

3. forarer sror sy afenfya i |

Define angle of deviation.

4. 9T H YRR 6T =Tt o) afe shiter o Sie o Ter STaarish shRT: 3/2 T 4/3 € | qa 5
S TS i H TehTRT shl =TT 3T ST T hitor |

Write the speed of light in air. If the absolute refractive indices of glass and water are
L 3/2 and 4/3 respectively. Then find the ratio of speed of light in water and glass.

5. WH&W%%@u, v, fﬁWWH@%WW%’F@Q|

Define u, v, f for spherical mirror and write the relation between them.

6. T o8 foha TR 3T BT & | STRHT forasht Jdish g smsy |
What are the types of spherical lens? Draw a symbol by writing their name.
7. T Terferat o Seiet ofe o foTu eq o ftiferr = fortor 1 Efiferg sie -
1. T B F JRTITA s % He &l
C 2. & ITHA I AT % o S &
E Draw a ray diagram for the image of the object for a convex lens in the following
situations when
1. The object is between the focus and the optical centre

2. the object 1s between infinity and the centre of curvature

8. I sh &THT sh TICTIA L SHHT o TRIT | Toh e i ol BIshd g0 10 cm & |
T AT T hifer|

Define the power of the lens and write its unit The focal length of a convex lens is 10

cm. Find the power of the lens.
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3h1E — 6 (UNIT - 6) -
AT 6 - Ferera amr uat aivaer
AT 12 — T o Trareh T THTE
Chapter 6 - Electric Current and Circuit
Chapter 12 — Magnetic effect of current

1 37k ST U2 (1 mark questions):

1. ®feareh AR sht gfcrershar fFft st 2:- <
: =
(37) THEhT TS T () T ATHT T
Bz

(T) ST HIZTE T (3) aTY Sl Fehfd W .

... . . )
Resistivity of a metallic wire depends on : =
(a) Its length (b) Its shape
(c) Its thickness (d) Nature of material

2. WiaKIer R o Teh TR bl i SIS Zohel H Il ST 81 3 Zohe HHTIAL 36 H IS BT & 31
TS & FAqed Tfalg R' 81 d R/R' 1A -
@) 1/5 @) 5
(s) 1725 () 25

A wire of resistance R is cut into five equal pieces. These pieces are connected in

parallel and the equivalent resistances of the combination are R'. Then the value of

R/R'is
(@) 1/5 ) 5
(c) 1/25 (d) 25
3. =TT T R R 8 A 36ehT TaTs et ST o & ST, T 6T =1 Sfrie grm:
@R (&) 2R
(#) 4R (@) 8R

The resistance of the conductor is R. If its length is doubled by stretching it, then its
new resistance will be

(a) R (b) 2R

(c) 4R (d) 8R
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4. Tfafaa & @ % @1 ve ot aftae o foera vt 1 fefud 72 e e

(I I'R (&) IR?

(¥ VI (@) V¥R

Which of the following terms does not represent electrical power in a circuit:
(a) 'R (b) IR’

(c) VI (d) V¥R

. U forsteft oh srest =l 220 V 31 100 W Heifeha foraT TRIT 81 S 36 110 V 0 E=Tietd

fora StTaT R, 1 @ud i ST aredt fariedt gt
(31) 220 W @) 75 W
@) 50 W @) 25 W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the power
consumed will be:
(a) 220 W (b) 75 W

(c) 50 W ()25 W

. 31 AT AR [STeh TaTel , TIwalTg 371 SATE | © fohelt forgge afieer # uget Sufishu H 3R

ot Twiae she § EAIfSTa ford ST €, Aofishe T ST shH SIS § 3cd—T SSHTST oAl

d-lj‘ildWE‘»l‘ll:
(a) 1:2 (b) 2:1
(c) 1:4 (d) 4:1

Two conducting wires of the equal material, lengths and diameters are first
connected in series and then parallel in a circuit . Ratio of the heat produced in series
and parallel combination would be:

(a) 1:2 (b) 2:1

(c) 1:4 (d) 4:1

. 39 FIeh T A FATSY ST FohRET =TeTeh o TaX o sl et sTS Ta | 7ag T o

Name a device that helps to maintain a potential difference across a conductor.
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8. forer wficerer ot T 31ef 2 2
What is meant by electric circuit?
9. Tergge & = wreteR sht ftdTeT forfag,
Write the definition of the unit of electric current.
10. foreft =eten 1 gt for smReRt oX fft s 22
What are factors on which the resistance of a conductor depend?
11. 38 «itfoer T T 919 15 fSteeht SI 96 J/C B |

Name the physical quantity whose SI unit is J/C.

12. p STCRIEHAT T TF qR 1 S 6 IUh! TAelTs bl AT FL ST ST 8| 360ehT 13
SfcRTereRaT =T grfT?

A wire of resistivity P is stretched to double its length. What will be its new
resistivity?

13. Fefe T 3Rt ferrer foha grar 82
What is the resistance of the connecting wire?

14. Topeft fergger aitaer o a1 fermg o st fervialteat ATo oh fofq dieeHfict shi fohe sh | Fatisia
ot StTaT 22
How is a voltmeter connected in the circuit to measure the potential difference

between two points?

3 ik aTet I27 (3 mark questions):

15. 37 = o foraent 3o vt &9 forgemt v 9 1 & 7e 7% Rafrg
Write down Ohm's law and its mathematical form and draw a graph between V and I.
16. Terelt weTef o &1 AR H Ush Tdell T GEU HIET & a1 570 & fore forga e srmart |

SATTed BRT SIeIfeh 3va Ueh & WA [orgd |1 § TSI [T ST €. F1?

In which wire current will flow more easily through two wires a thick or a thin having

same material when they are connected to the same source. Why?
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17. 91 TS fopelt feregger sterrer o 21 6l o off=r forarmeat ot 3k qd o forwaTe= foh e
¢ T 5T L ST R 3 T oft et e ferd et 8. 9 39 s1eud ¥ anfed g At
forer e 7 R i grm?

Let the resistance of an electrical component remains constant while the potential
difference at the two ends of the component decreases to half of its former value

what change will occur in the current through it.

18. Terelt forera ey st srereer v Raferg i@ 2V o ol At o6t siedl, 5 o7, 8 o1,
12 31 o 1 i q e orT it vt 2ot 360 5 92 .

Draw a schematic diagram of a circuit consisting of a battery of three sales of 2 volt
( ) each. three registers of 5 ohm, 8 ohm, 12 ohm and a plug key, all connected in series.
=) 19, Togd aRT SR WE Sl ol & sk Feior s feRa ST 27
How determines the rate at which energy is delivered by a current?
20. T T HIeT 220V o Tor=ld &id & 5.0 A forega e it €. #iet sht 2feh i hifsg
AT 2 € W HIST G 3UHh Frsl| TTehierd shifsrg,

An electric motor takes 5 ampere from a 220 volt line. Determine the power of the

motor and the energy consumed in 2 hours.

21. FrafeRaa = sy fivo-=rg =
1) forerd et ok Tl oh fAETOT H ST UohHT S o1 B SR aRt foRaT ST 82

Why is the tungsten used almost exclusively for filament of electric lamps?

2) Torgd AT FhwAT S 58 SRt quT fagd sl o =Tt 8 ATgel % T W
firsremgati & Rl ST ST 82
Why are the conductors of electric heating device is such as bread toaster and

electric irons are made of an alloy rather than a pure metal?

3) = ferera wfeaeli & Sofisher SIS ohT START AT AT foRaT STTaT 82

Why is the series arrangement not used for domestic circuit?
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4) Torelt AT 3T Sl IEeh! SHATIE H1E o &l H Iiad & |1 fohe Fehm g
How does the resistance of a wire vary with its area of cross section.
5) oI ST o foTe ST ShToX T Teg AT o AT T ST AT fohaT ST 27
Why are Copper and Aluminum wires usually used for electricity transmission?
5 3ieh ATl I (5 mark questions):
22, (37) AW &1 e samd?
(&) Torelt wfcrrereh o Rl o sfter forwateat v o forfv=t AT o forq, 3es wanfed fererd

. ST 1 % | A A e e R
( A\
X I (Amperes) 0.5 1.0 1.5 2.5 3
~ )
&
V (Volts) 1 2 3 4.5 5

V q9T [ & S TT% et 38 Teres shT Taie JTd ehifoTg.
(a) State ohm’s law?

(b) The value of current I flowing through a conductor for the corresponding values

of potential difference V are given below

I (Amperes) 0.5 1.0 1.5 2.5 3

V(Volts) 1 2 3 4.5 5

Plot a graph between V and I and also calculate resistance.
25. (37) forerd it ot afeATive ot | 38T .1 39T fafaT |
(&) Toh TN fctRard formd SUeRTuT 3T ST AT &; ST o He A o foIe ot o forstet! foret
T T KL AT forRgd St ot Wfd e T 3.00 % 2 |
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(i) fefeT ga s & fotw 400W 31k =T IhsTen
¢ . (ii) T fo T =i o ot 31 foreteft & v fomieh wifxh 80 ame Rl
(iif) e fo 6 %2 o oI 18 are ek o o8 forega @l
(a) Define electrical energy and write its S.I. unit?
(b) A household uses the following electric appliance; Calculate the
electricity bill of the household for the month of June if the cost per
unit of electric energy is Rs. 3.00

(i) Refrigerator of rating 400W for ten hour each day.

(i1) Two electric fans of rating 80W each for twelve hours each day.

( ) (111) Six electric tubes of rating 18W each for 6 hours each day.

=) . P sper w3 % R 2 3T, 3 i A 6 i e e
O T foRE SeRTX STTT 1T TehalT 2 -
(31) 4 3 (@) 4.5 3
How can three resistors of resistance 2 ohm, 3 ohm and 6 ohm
be connected to give a total resultant resistance of :-

(a) 4 ohm (b) 4.5 ohm
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AT 12 - T & o Frarehid THI =

T Chapter 12 - Magnetic effects of electric current

1 3tk ATt U127 (1 mark questions):
1. WRATHT T qTfe 1 ot fam e §

1- S & =T i 2- T & AT G
3- Sfeq g o famm 4- ST g ST =T A afeor ST

Flaming’s right hand rule gives

1- magnitude of the induced current

-~
- 2-magnitude of the magnetic field <
© =
y ) 3-direction of the induced current -
=A7)) 4-both direction and magnitude of the induced current "
o
Lo 2. TR S
IBCRIEED 2518 Ish
3-den sk 43wt
Magnetic lines of forces are
1-open curve 2-closed curve
3-straight curve 4-All of these
3. Torggel I S LA ATl SUSHTUT <hl el ST &-
1= forgga At 2-HI \!
ot
35t 4-3HIX
Device for producing electric current is called a
(e A~
1-galvenometer 2-motor
3-generator 4-ameter

4. Tormra Arex afEfid T 8-
i) ifes 3ot o forpa 31 |
i) Tifres 3Tt oht IS I 1
i) o 3 Bt Il 3= A
iv)  Toregd it ot it IS A
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electric motor converts —

&5 S 1) mechanical energy into electrical energy
i“," v i1) mechanical energy into heat energy
1) electrical energy into heat energy
1v) electrical energy into mechanical energy

5. el H gachi & et § uftadd SR forRga amy & Swor ) Sfafied s & A
IS
The change in magnetic field lines in a coil is the cause of induced electric current.

name the underlying phenomenon.
6. TrETEhI & [T TR ?
what are magnetic field line
¢ 7. A 3wt o A e o el SEsent s SwnT o S €.
name any two devices which use permanent magnets.
&~ 8. Torer [wereh aram © feheel <1 SR sht &=i TG,
what is an electromagnet? list any two uses.

9. Torgd T[Tk S H SEHTS 81 Aol 0 AR o SIS ST Ie¥d ST,

state the purpose of soft iron core used in making an Electromagnet.

3 3k Tt U2 (3 mark questions):
10. Tor=Id <[FeTeh ¥ ST 8, e ST o oY Teh THTeRd 3T SHTST,

draw a leveled diagram to show how an Electromagnet is made.

11. TorgId <[Feieh ol ek G o a1 qliehi s &=l SHTST,

list two ways of increasing the strength of an Electromagnet.

12. Ffe Torgge <reren b1 waref et 1 ar St forea e aht aivafvr shifsie,

If the material of the Electromagnet is fixed define the term induced electric current.

13. 9T 3 forea STeRT hl qeafieha T SATaRae © 2

why is it necessary to earth metallic electric appliance ?

14, STFTHTOT ST ST 71 27

what is overloading and short circuiting ?
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1. ey fereger e & 79 e 6 e 1 Rk,
Write the function of earth wire in domenstic electrical circuit.
16. STTTHY AT hT el | Halfgd AT al STTaedh 82
What is the function of an Earth wire why is it necessary to earth
17. wHt 31 St 7 37 farfae,
distinguish between AC and DC.
18. forega wrex 1 fagia 8 2

what is the principle of electric motor ?

19. = AR et H AT ohT ST T o hL T Jrarehiar &1 fohd STehTE Tt 2T

If the number of terms of a circular current carrying coil are doubled then how will

the magnetic field produced by it changes?
20. 21 Trerehie &1 TG Ueh e i il oft i el shredt &2
why can two magnetic field lines ever Intercept?

21. TorIa &t o1 STRINT forea oo T H < fohaT ST 6T &7

how this field can be utilise to make an electromagnet

22, GATHT 3 ST BT % o T oo FHIRvTT

State Fleming's left hand rule

23, AT BRI H Sh TR 9T o i ST Orer TTaon shi =il sH18Y

List three characteristic features of the electric current used in our homes

5 3¥eh ATt I27 (5 mark questions):

24, STt i e A AT e B e TG
) AR
iy  gdi g™
i) S
Describe the terms used in the generator
1) armature
1) slip rings

ii1)  brushes

25. TorgId STt o1 Ui =T Tohet 2Rt oh ST hIfSTY]
(37) THifeRd ST @) fagia @) FEfafer
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Describe the electric generator under the following headings.

§ :\,»’ (a) labeled diagram (b) Theory (c) procedure
A 26. ferere sitex 351 i i widept 3 sieia ifima)
(37) TmifeRd STRE @) fagia ERIEIRS
Describe the electric motor under the following headings.
(a) labeled diagram (b) Theory (c) procedure
()
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gehTs — 7 (Unit 7) —
3T 1 - ST T forehma

Chapter 1 — Evolution of Life

FEIE TH (Objective Questions)

1.

TS o i Il o i 2

H - EHefT T o - fEY ST

- GESIT ST T - fomiw 3

Human teeth and elephant tusks are examples of: /¢

a) Homologous Organs b) Vestigial Organs \> %
¢) Analogous Organs d) Special Organs '\%’/
oSl 3T SRl | 3T, W, TSR, ST ZHT W §U &, 394 | hIH6T 48 qwsiid 3T

I TR L T 22

H - TSR SR AT F - TS 3R AT

| - et SRR T - Tt 3T 3]

In a basket of vegetables, there are potato, radish, carrot, and tomato. Which group

is displaying homologous organs?

a) Carrot and Potato b) Carrot and Tomato

c¢) Radish and Carrot d) Radish and Potato e
"STehicieh <RI T g 2T Sfdared o o A
- ek o ERCISECE

|- 1" Sl EESEISE]

"The Principle of Natural Selection" was proposed by:

A — Lamarck B - Breizman

C - Charles Darwin D - De Vries

A
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4.  erta 1 fagia Ui @

O8N - ST F R PR SR - e g
™) . Svver 5 T 35 P . drd ¥ g &
Darwin's theory is based on:
A - Observations made during his journey B - The cell theory
C - Mendel's laws of heredity D - Lamarck's theory
5. v ot T e 3 v
- gl fe-sfier - IR S HUSA
- THTeh - T STfad
( R ) The author of the book "Origin of Species" is:
26) A - Hugo De Vries B - Gregor Johann Mendel
N C — Lamarck D - Charles Darwin
6. e & Sframem & et R
- SEATER - /A
g- Qare g- e aft
An example of a fossil is:
A — Dinosaur B - Whale
C — Algae D - Finch bird

E foeh v Y afd IR (Fill in the blanks):

= 1. TS SR = AUl o STTER STl § giar o oAl IR ... T R

The process of bringing changes in organisms based on traits selected by humans is

7 99

JC

&

3



3 ik aTet T2 (3 marks questions):

TN 1.
r\,‘.\
2
3
4.
( D
e = ) 5

10.

SSTYH T 22 SETYHT o AT § B 9T UdT o1 Hehd 22

What is fossilization? What can we find out from the study of fossils?

. STt o forhme o =3 3R SToher ol T et 82

What is the role of selection and adaptation in the evolution of organisms?

. T HTS T St SATETE 3B STell ohl ST W his 3T IS &7 82

Is increasing human population affecting the number of tigers?

T ottt o U@ 7R TGS o U bl YU 3T HHT ST TehdT 82 3R &l at 12 ot
EQV
Can wings of butterfly and wings of bat be considered as homologous organs? If not,

why? Explain it.

. FTHE AT &2 Teh SR oh FRT HHLATEY|

What is adaptation? Explain with an example.
SSITTcr ford shed &2 Ueh 3aTelT §RT FHETSY|

What is called species? Explain with an example.
STaTe fohd hed 82 Teh 3aTetTT A1y

What is called fossil? Give an example.

ORI 3T ohE e &2 A H Y ST aTet foheel &1 3TeRIST 371 o 71 fafay

What are vestigial organs? Write the names of any two vestigial organs found in
humans.

o

. JTeh{ceh = fohtl Shed &7 Teh 3STeL0T Joht THENSY|

What is natural selection? Explain by giving an example.
K =T ohH g &7 Teh IATENT Skt THeNSy|

What is artificial selection? Explain by giving an example.
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4 37k 9Tt T (4 marks questions):
1. et o foermr o forgia o #1s e = fofg fafag
Write down any four main points of the theory of evolution of organisms.
2. THSITA SR GHGNT S ol Teh ITTE0T G A9

Explain homologous and analogous organs with one example.

3. e STfad o ST o WHL 6 SN STl o foeh o ey # fRT TTY % AUl
SAATHAT T U STy

Describe some significant observations made related to evolution of organisms

during Charles Darwin's voyage on the Beagle.

"SR foRE Shed 87 ShiH =TI WTehideh =1 § fohd et STl 82 %S i foig fetfay

What is "Selection"? How is artificial selection different from natural selection?

Write down three points.
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HEATT 15 - SATTATITERT — FATehl & HATAT Ak =
) : Chapter 15 — Heredity: From Parents to Offsprings

FEAY T2 (Objective Questions)

1. e FT Toherdl T T HROT B —
31- Teh1 IT YA ok TR X T AT U forferaa sty
- TIfOTd F TifeTeh! ST J=nT
- HaA F T AU T AT ST hi-5e HAT

- ITIH ot P
- What is the reason for Mendel's success? %
( ) : . . (e 22
A- A clear plan and systematic record based on reasoning or experiments. -
=" B- The use of mathematics and statistics. Q

&= C- Focusing only on some specific traits.

D- All of the above.

2. AR THMA(RR) A o sfisT T Gehiol GIGT (rr) H ok Siist oh HT HTAT ST & 1 T4

ot oht Tt 2t -
31- gt Mt (RR). o1- gl gl (im)
- 50% Tt 50% e g- 75% Tl 25% giar

If a purebred (RR) pea plant is crossed with a wrinkled (rr) pea plant, what will be
the offspring of the first generation?

TE—/ A- All smooth (RR). B- All wrinkled (rr). ®
—_— C- 50% round, 50% wrinkled. D- 75% round, 25% wrinkled. A
3. SATIARTER % STHETT &
- ST AL - ITed SIfaq
- S IR Hed g Jod
The father of genetics is:
A - Albert Einstein B - Charles Darwin
> C - John Gregor Mendel D - Wallace N g
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T o S AT % o forer e st =1 fopa:

H- el - 7
q- 9 g8

Mendel selected which plant for his experiments:

A —Rose B - Pea

C —Rice D - Wheat

TS 3T AT H 7 o6 Torodia eveqor 7ot 7 foret o | forereht s foram o
- Torsh1 To et & - HEAT Te STEATH TS
g- & ud fueft it - TS TS ST gre

In his experiments, Mendel studied the traits of peas that differed in:

A - Smooth and wrinkled seeds B - Stems and roots

C - Green and yellow leaves D - Tall and short plants

HT ShT ShITRTeRT H U 91T ST &:

H-23 9 - 22 S
|- 20 59 324
Human cells contain how many pairs of chromosomes:

A - 23 pairs B - 22 pairs
C - 20 pairs D - 24 pairs
ey & fof Frefees Torep 2

H-X d9-Y

- XX 3- XY

Human beings have sex chromosomes:

A-X B-Y

C-XX D-XY

TS 3 TR W o ol e et 2

- F5eh - ATEIhitegaT
-S| T- fifrepr

103

VIO

&

|‘.\\



) 11.

-

)

10.

Information for protein synthesis in the human body is found in:

A — Nucleus B - Mitochondria

C — Gene D - Vacuole

HATTARIRAT T TS ..o 8l

The unit of heredity is ................ .

T o ST T BRI o ST B BT HEA 3 .o, 1 from e T R

Mendel's rule that states the separation of factors during the formation of gametes is
called the Lawof ........................

3 3feh aTet I27 (3 mark questions):

12.

13.

14.

15.

16.

17.

18.

TRV o AT & §H Vel T TS foRe 8 3eq= hir?

How can we produce new varieties of plants through the selection of traits?
HEA = 319 TRNT o foTT 7T o Utel 1 & =13 o foha?

Why did Mendel choose pea plants for his experiments?

T o ! T ohis i He ey

Write down any three significance of of Mendel's laws.

HTTATRThT T T TH FHA ST T S o [o1T ¥l 73S T Tkl 87

How can the study of genetics help us increase crop production?

Teh N « ST B aTel Hed o Urel o oISl orTTg, TR e fopart fo Swrett gt # st
B o e & il R o wel o

A farmer planted seeds of pea plants with purple flowers and claimed that the next

generation would only have pea plants with purple flowers. Whether he was correct?

YT TTordT fohd shed &2 For g1 wmEmsy
What is incomplete dominance? Explain with a diagram.
STVTTOrT 3T -1 /T 82 Ueh IRTeXTT 4okt SHETSy

What is the law of dominance? Explain with an example.

Y faodid e e WY (TT) Ta i O (tt) o Hed HehloT shi W F1 et § o qer
(Tt) STH BUI I HSoA o foher i <hl g st &2 Hertor wfshar sh Lt fost gi eS|
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r\,‘.\
19.
20.
21.
( N
—A \“)
B 22

When a tall plant (TT) and a short plant (tt) are crossed, the F1 generation has tall
plants (Tt). Which of Mendel's laws does this prove? Explain the hybridization

process with a diagram.
STl Te STl & § T S 82
What do you understand by dominant and recessive traits?

TS o o TANT o oA forer el sh1 <1 Toram? 36 el shl <A o &1 o foafay |

Which plant did Mendel choose for his experiments? Write two reasons for selecting

that plant.

firferforer ST el o AT 9 T Hohe T Shl Hoht0T e W1 F 1 WGl § i & 7 3t
o0 STH BT S RAT?

What color flower will result in the F1 generation when red and white flowers of the

Mirabilis Jalapa plant are crossed? And why?
HATTATRIET T TRATI AT | HATARTET i TF ST o GHeTST |

Define genetics. Explain genetics with an example.

4 37 9T 9T (4 mark questions):

23.

24.

25.

26.

s | foi frerieor 6t wisra skt wfre emEsy

Explain the process of sex determination in humans with a diagram.

enet Tt THfER T ®2 STIeTfard aTeeh fUaT (Rr) 9T 3Tsiferd ameek @TaT (Rr) 1 8
Tt Hafer bt TaTfee 3 ATey @ guE)

What is sickle cell anemia? Explain the offspring of unaffected carrier father (Rr)

and unaffected carrier mother (Rr) through a ray diagram.

HTShST The ST AT T[eATel o et ATet GTe & TeATsll TT 6 B aTed el ITH shiAT el
& TTT © AT 5 e fierd ot § F 6 g F 37 U8 38160 fAfay) 1 I8 e 68
TS BT ST 22 A BT o Teh 31 3T <o THHATST|

Now a days, obtaining rose plants with pink flowers from white and red rose plants
has become possible. Are the factors become codominance? If yes, explain with any

other example.

HEA oh THFRLT I T @I §RT THIET)

Explain Mendel's law of independent assortment through a Punnett square.
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27.

TS STFET ST Tl T eyt sifet 81 TR ST A1 B 1 AT <at @ | Forgm o feremeff
B o AT 37T TS 1 8 AT o6 et arefRal i s 3 & 3aeht oot o g
Raju often taunts his wife for only having daughters and not having a son. Being a
science student, how would you explain to Raju that his wife has no role in only

giving birth to daughters?
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IS

o\ -

b
r\(\’I | o
2

ThTS — 8 (UNIT - 8) =

37T 7, 8 A 14 (Chapter — 7, 8 & 14)
HAfares afshamd (Life Process)
i. TT9UT, TREE, 6, Ieaei;

Nutrition, Transportation, Respiration, Excretion
il. ﬁ'aawqamm, Control and Coordination
ili. IS4, Elc'fo;s{ AR Q'F{ar%fnr; Reproduction, Growth and Development

El'FfIgﬁ'SSf%T (Objective Questions) \ N
N1 TR ST Sl feelt HCL 3tvet § geferd et @, TSkt e 2- (o 2=
% CORISE () 7 Og

() AR o THTSAST o HTRIT (3) ST 3
The inner lining of the stomach is protected from HCl acid due to -

(A) Pepsin (B) Mucus

(C) The action of salivary amylase (D) Gastric juice

2. 8 % QI NG ST HATEH-IEH T 8-

(37) AT o ITER el § (&) BB hl HIUHTHT I Teh HITRTHIHAT H
GIEREREICEICEIRRIE] (3) 41a e 9 gut o
During respiration, the exchange of gases occurs in - pt)
(A) Bronchiole & alimentary canal (B) Alveoli and blood cells
(C) Air sacs and bronchioles (D) Bronchioles and respiration
3. 9 6l I -
(37) T (&) AT FFE
(%) 7 Ferert (3) T
The unit of the kidney is -
(A) Nephron (B) Bowman's capsule
(C) Ureter (D) Urinary bladder
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freferiad & & o8 gishar S TehTeT G390 o SO -T2l 8iaT -

(3T) STRTRT St Rl TETATR sl H iaa

() FTT STZHATFATSS T FIEEIESE H T

() SIS T HTa SEIATFITEE T TGl

(F) ATP o ST 1 22T

Among the following, the process that does not occur during photosynthesis is -

(A) Conversion of light energy into chemical energy

(B) Conversion of carbon dioxide into carbohydrates

(C) Conversion of carbon into carbon dioxide

(D) Breaking of ATP molecules
el T T THE HRT 8-

(37) hicwr st 3Tferekar
QEIEEER

The primary cause of kidney stones is -
(A) Excess of calcium

(C) Old age

T 8-

(37) T Frsiferen TR

(T SeHTET fopa

Respiration is -

(A) An abiotic process

(C) An exothermic process

AR H UTT S STeAT UTeIeh USITSH -
(37) Tt

(®) T

An enzyme found in saliva is -
(A) Ptyalin

(C) Lipase

108

(ST) TATI H ESHHOT
(%) ST Feft

(B) Infection in the urinary bladder

(D) All of the above

(@) St foham

GIEREREREDI

(B) A biological process
(D) A digestive process

ERIEE
(3) THTSST

(B) Pepsin
(D) Amylase
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1.

12.

EQINEAR I IKECRGG S

(37) ADPFH &I H (F) ATPFETH
(d) NADP % &9 H @) PIFETH

Energy is stored in cell as -

(A) ADP (B) ATP

(C) NADP (D) PI

TH SR ATfe-T | T T2 8Id ©-

(@) fem @) ot
(@) e (%) farftenrd
There are no valves in this blood vessel -

(A) Vein (B) Artery
(C) Capillary (D) Venules
ATSEISHT TaTeT o Icerst 317 &-

(37) I%d () BHST

(¥) T (@) I weft
The excretory organ of nitrogenous waste is -

(A) Liver (B) Lung

(C) Kidney (D) All of the above

fr=forRaa o & 19 91 9Tey 21diH 8-

(37) $gferT () AT

(H) TEZISHH (S) TSI

Which of the following is a plant hormone -

(A) Insulin (B) Thyroxine

(C) Estrogen (D) Cytokinin

i ShIfRTeRT ShY TaAT H TE T T ST -

(37) TgTe (&) sk

() T () HTIAS 3 ShIRTRT [¥fT
Which of the following is not found in the structure of a neuron cell -
(A) Dendrite (B) Nucleus

(C) Axon (D) Cellulose cell wall
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13.
c‘"“/“‘“q
iz
r\,‘.\
14.
()
= \“)
&
15.
16.

Hfedqser § areft ST aTel Teh 37d: STet U1 e g ST 3 ST STierd s aTel 3
wrelt Tt s fAiEor Bl 2-

(3) o Tfer
GRSESPIR]

A endocrine gland found in the brain that regulates the other endocrine glands

(1) T
(@) Toferer Tifer

responsible for hormone secretion in our body is -

(A) Pituitary gland (B) Liver

(C) Adrenal gland (D) Pineal gland
Toh | ST hY OTAT ot f=I0T et 2-

(37) TOUrRRTES Ty () TR

(@) T Tfr (@) Toferer Tifer

Regulates the amount of sugar in the blood -

(A) Parathyroid gland (B) Pancreas

(C) Adrenal gland (D) Pineal gland

Tq I ST T HIT U AN 2 37K Afe 57 7=t Fiear @ | 50U +ft 50 39 7= % e
e T TATH L 2l 36 [oRAT shT =107 81T -

(37) g 5o gm () TS ZRT

(¥) A g (@) ot it

When we are asleep at night, if a mosquito bites us, we still try to avoid it. This action
is controlled by -

(A) Pituitary gland (B) Medulla oblongata

(C) Brain (D) Pineal gland

TTSeh ST T ST SR T ot §Hear U e o fore Sl i 8-

(37) s (&) T

(¥) SEAHGRA () HicHd

The part of the brain that is responsible for coordinating physical activities and
balance is -

(A) Cerebrum (B) Cerebellum

(C) Diencephalon (D) Cortex
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17.
c‘"“/“‘\f"
tz
f\lk\
18.
()
= \“)
L S = 19
20.

TN IROT hT ST Sfeeh shiSTeRral § feforiRad Tehm & shifRTeRT forsrsi grar 8-

(30 TS A (=) Irpht

(¥) 37 AT o Tt (3) Tt
Almost all cells in our body divide in the following way -
(A) Meiosis (B) Amitosis

(C) Meiosis and Mitosis (D) Mitosis

T & & 9 1 W HTaT S T 90T T -

(37) Sfemm™ (&) THIEE

() R[S @) feremanfet
Which part is not part of the female reproductive system in humans -
(A) Ovary (B) Uterus

(C) Seminiferous tubule (D) Fallopian tube
AR IS & -

(3) ferfyrrand =gt &

(&) X 3T AT S HIRTHISAT o AT FRT AT 7T 87

() 31 A F AT

(T) T8 T 1S T

Sexual reproduction results in -
(A) Increased variations

(B) Male and female gametes unites and makes zygote

(C) Both A and B
(D) None of the above

o= gerTq STerer & ST 8-

(30) % (@) sfist

() T () T4 & g Tl

After fertilization, it forms from the ovary -
(A) Fruit (B) Seed

(C) Zygote (D) None of the above
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21, T H T S E-

N o (37) ST EIRERN
. (H) ST (§) &t

Male reproductive organ in flower is -

(A) Gynoecium (carpel) (B) Androecium (stamen)
(C) Ovary (D) Petal
fioeh ot ot gt bR
(Fill in the blanks):
1 o9 3 S oREE T Bl 1T SR T e FHEAT 2l
The swollen base of the pistil in a flower is called .............cccceenen..e.
(o 2 SRR =1 feor AT 21
¢ The function of the ovary is t0 .......ccccceeviviivininincninene.
L :_J ! 5 RECR RS T e =2 | AR ECUI IR
In Hydra, the process of reproduction 0Ccurs ...........ccecceevvreeerenennee.
4 wrer 3R My ) % He ok Heltr ST Ta TR 35 o, FEd 2l
The tissue that maintains biological connections between the mother and the
developing fetus is called ..................
5 WIS H YERI] R A oo T H BT R
In human sperms are produced in .................... organ.
6 o Bl H ol 0T AT v 2t &
T‘—/ In a female, the number of sex chromosomes is ............cccceuveeee...
E 7 O R AT IO 2t 2
o In a male, the number of sex chromosomes is ............ccccuvveeee.n.
8  Iohd AT IR H T TS .ovvvoevv, PR
The liver is the largest ..........cccccveennenee gland in the human body.
O TITSH U TR oF AT ..ooooooe I B
Enzymes are a type of organic .........cccceceeeveennnen. catalyst.
10 AT 8 AT ST TS UTeeh TrsTSH ..o L2 S H
L and ....oooeveeiiieiees are Enzymes found in the stomach.
£ N
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Sugar is stored in the human body in the form of .................cc......
TS o U O H SRR SRS ST . &
Residual organs present in the human digestive system is .........ccccceeerveennnen.

................................ 1 HITRTeRT T foreld T8 Fed ol

The oo, is called the cell's power house.

15

16

17

18

19

20

21

22

23

24

......................... W CO, ek arg SITet [Hehret! ST 2l

In air with CO, is expelled.

Tk | 4TS ST STt TTEH Te STAT-3TT TR hl SH{UTehT ah

The colourless and different shaped corpuscles found in blood are called

corpuscles.

TSI 1 98 el ST Th STATR oo FHEATT 2

Deficiency of blood in humans leads to ..........cccccecueenee. disease.

Th § ST o SATTTT T oo HEIERERIERCTGIRS
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25

26

27

28

29

30

Reflex actions are controlled by ..........ccceeeuvenneee.
.................... T AT Rl ke ok foTT ST SRt 2

................ gas stimulates the ripening of fruits.

e ShT Jfg T GHT L ATAT TR GTHA B o

Hormone that inhibits plant growth is: .................

2 37eh 9T U2T (2 marks questions):

1

SToRT &8 =T THTITeh FHIsRT feffa)
Write the chemical equation for oxygen respiration.
qr= aitRerfa § #sT Uk fiee | fohal IR AreesdTE il 82

How many times does a human breathe in one minute in general condition?

SHITTeRT T ITaR BT3H fohdl had 87

What is referred to as the powerhouse of the cell?
TRt aToT foR hEd 22

What is meant by parasitic nutrition?

SISt 3BT UTe fohe ST ETT e 82

In which organ is cellulose digested?
GIECaCICUER Ny

What is a neural impulse?

T T 27

What is axon?
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10

11

12

13

14

15

16

17

18

19

20

21

Tk T STTATEH T ST 1 STEd &2

Why is iodine important in salt?

A T 22

What is a synapsis?

UTSRAT (STHTERT) © BT B aTet BT 31 M o &1 ford|
Write the name and function of hormones secreted by the pancreas.
oL 3ifr 2t TSt 3P A hed 82

Why is the pituitary gland called the master gland?

formet €1 uTew BT o 9™ faRay)

Write the names of any two plant hormones.

SAffererT aTa &I o &t e ferfa)

Write two functions of the plant hormone auxin.

S ured g o 3 el fafa)

Write two functions of the plant hormone gibberellin.
HTEIRIS (- ITeT BTHH o I sy fIfay

Write two functions of the plant hormone cytokinin.
GIECIRERER KRR

What is meant by the nervous system?

TS 3 UTS T ATl S 9R - At o A fafan

Write the names of the four major endocrine glands found in humans.

Tel o ST Ud FATeH H 3T foarfau)

Explain the difference between xylem and phloem in plants.
SIS o JeRRT o A9 fotfag)

Write the types of reproduction.

IS fohel FhEd 82

What is reproduction?

I (r8veT) ford shegd 27

What is the placenta?
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22

23

24

25

26

27

28

29

30

31

32

33

34

AT (YY) % &f 1y fetfay)
Write two functions of the placenta.
eff o fordt e 22

What is vegetative reproduction?

%l o a1 S ok I fofa

Write the names of two reproductive organs of a flower.

e 1 82
What is budding?
sfiemy oy et 22

What are spores?

e IT dSi ¥ Tl W 8 379 7 &1 T2

Why do we sweat when we run or walk fast?

"ot a1 TRl e © ST

What is "energy currency" and why?
fepuar forer shedt 22

What is osmosis?

3 I GHT GTd 997 I IT-T Fd 97 AR SEehT AT 2l =12

Sometimes you feel thrashed while eating food or drinking water. Why?

W SRR F=1 22
What is artificial dialysis?

SIERTRT EN0T SshaT kT Hqford Tremarfeh wtenter fafiay)

Write the balanced chemical equation for the process of photosynthesis.

e H UTC ST oo fohea] &1 818 o 919 faRau)

Write the names of any two hormones found in plants.

A ShT T STSRET H AT o aTet foheelt a1 gri-a o 1 fafa |

Write the names of any two hormones involved in human digestion.
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4 37 9T 92T (4 marks questions):

10

11

12

13

S shT AT f=r a8y

Draw a labeled diagram of a flower.

SIS o 1Y AR

Write about the functions of the ovary.

AR IS T &2 Foh fTN=T ToRRT T 0 hifSTT)

What is sexual reproduction? Describe its various types.

3TN fITen F <ifiTeh S H ahis 9 S fotfam)

List any four differences between sexual and asexual reproduction.

T HITseh 3T ATHifhd o= ST 4

Draw a labeled diagram of the human brain.

Teh dfAeRT ShIT3TeRT ahT ATHITshd for sATEY)

Draw a labelled diagram of a nerve cell.

e fomam s/ 89 Uk IeTetur gfed gqeiet feifiay)
What is a reflex action? Explain with an example.

UTeq BT fordl shgd 82 fohedl € urew 8 & 9 9 & feflag)

What are plant hormones called? Write the names and functions of any three plant

hormones.

YT o YT T ATHIToRd < SHT18Y

Draw a labelled diagram of the human digestive system.

&

U o GO G Rl ATHI[hd o SHT3T)

Draw a labelled diagram of the human respiratory system.
TS o Scest < 3T ATHIfohd To T3]

Draw a labelled diagram of the human excretory system.

TS o GRET 3 T ATHiToRd ol SH13Y)
Draw a labelled diagram of the human circulatory system.

I T STATATIE ST AT T hegd 22

Why is the nephron called the dialysis unit?
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14

15

16

17

18

( 19

L S~ 20

21

22

23

RN UIE=ROT 5 1 §? AE fohel Jehr EIaT 87

What is double circulation? How does it occur?

STTEeTH Tl FATCH | i 3 Sie et

Write any three differences between xylem and phloem.

SATerelt e I TR 58 H h1s 4 3T faafag)

Mention four differences between aerobic respiration and anaerobic respiration.
TVUER T 31t e foerr @i

Explain the two methods of contraception.

v sifsrarm & T ST et <t R it 2t 22

What is the role of the male and female in the process of fertilization?
TS 3 T o1 {07 T SRt e F i AT 82 e
Why is the formation and excretion of urine necessary in humans?
SThTRT ESN0T T TRCATST for@ent Temafe iRt ferfian)

Define photosynthesis and write its chemical equation.

318U UiE=RYT fhH FEd &7 TWETsy

What is double circulation? Explain.

TG Td STHEE forTs 1 9w S fafag)

Write four differences between mitosis and meiosis.

feq e forr =t shATE i fafay

Write the nomination according to the given diagram.

&

A
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24 3w ot o SR AR e

‘;‘“ﬁ,?" |- Write the nomination according to the given diagram. |
al
2
=
=
( N Ca
A~ g-_)’/
) o
&=
25 ifires U 3Teifires g9 § = ofar faftay)
Write four differences between sexual and asexual reproduction.
26 EHEHT TSI % 13 IR Heed [y
Write any four significances of mitosis.
27 QU Y forst shT SHHTTHI AT fTRaq)
E Write the nomination according to the given diagram. ﬁ
— /- —
» . ‘;\_":
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28

29

Ueh T {Ush I o1 T=ed TTHTTohRd o/t 1o T =T AT sh sh THifhd shifery|
Create a clear labeled diagram of a prototype flower and label its main four parts.
SeRTRT ESNT <kt ST SAToReftST T fefietell 81 58 ST oht ey feigadl o e ot aof
shIfSY

a. Togia

b. THTATH FHRTT

c. ATifeRd foat

Oxygen gas is released in the process of photosynthesis. Describe this experiment
based on the following points:

a. Principle

b. Chemical Equation

c. Labelled Diagram

6 37eh I I2T (6 marks questions):

Fia- &l T Tt shad 22 fored 5 Siaaret TR & = o Sferd g s = forfay)

What are endocrine glands? Write the names of five endocrine glands and the

hormones they secrete.
U Afdsah o fafS=T it ot avfe foet e et afga hifs)

Describe the various parts of the human brain with a labeled diagram and their

functions.
QISOT T &2 9107 o fofi=T wehe oht wferm & gofa Hifsig

What is nutrition? Briefly describe the various processes of nutrition.

A o B& ohl LT ohT AHiTohd Torst TRt fomarm farfer ewemsy

Create a labeled diagram of the human heart and explain its functioning.
TS o IcESi O T ATHIToRd [er= TRt Ui hifSTy]

Create a Labelled diagram of the human excretory system and explain it.

M) AfeaTal o TaTeed o oy fora-for Tal o1 &= Tt =iy

What are the health precautions for pregnant women?
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o H qrroT (F=r) § ARt SSRUT (3T doh ST sh [5RaT shl |erst aHzTeht frfiay|
Explain the process of reproduction in plants from pollination to seed germination with

a Labelled diagram.
SeRTRT ESINT b fohalm & O, T feherell © | Torereht 3 feigatl o sf=avict oo <hiferu-

(31) Forgi
EEILUETRTE]
(@) graent=ar

In the process of photosynthesis, O, gas released. Describe this phenomenon under the

following headings:

(a) Principle

(b) Labelled Diagram

(c) Precautions
et wd 3 i 6 i fafam

Write any six differences between arteries and veins.
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gh1s— 9 (UNIT - 9) —
LT 5 - TART UL TEAT

Chapter 5 - Our Environment: Energy Flow in the Ecosystem

FEIE TH (Objective Questions)

1.

c\lH
¢ )
= \“)
S
2.
E
3.

TH — o - ;)
S WTel et H § 3t fewor feregd €1 S 2/ g —
o, O h eI § Y TS, o, IR hl At ek 8 Se),

. IR T ST H YR T S, 2. o oht ST H qRede el STe. /?
Grass — Deer — Lion \> =2
In the above food chain, what will happen if deer become extinct? '\;,l’/
A. There will be a decrease in the number of grass.

B. There will be an increase in the number of lions.

C. There will be no change in the number of lions.

D. There will be no change in the number of grass.

Toreft oft wTer st & oy et T H Tk I 3 E

31, fie STHIRH CREGiRERE RN

. 3cq1eeh g, T ITHIH

In any food chain, who primarily comes at the first trophic level? )
A. Primary consumers B. Secondary consumers

C. Producers D. Quaternary consumers v
urffeerfaen & Teq ST ST Herd g fohe Sfen A femam o —

SRS I EARCIRCES

g, eifeaa g = I

Which scientist first used the term "ecology"?

A. A.G. Tansley B. Linnaeus

C. Darwin D. Newton

122

N



ffeiiaad & @ Sifosk sew A AT R —

H. gl . T

|, qrt 3. gt

Which one of the following is a biotic component?
A. Air B. Cow

C. Water D. Soil

“TTe SIS e o T & —

31, TeH Teed . I AT
g, ied 3. fafree

Who is the author of the book "Animal Ecology"?

A. Charles Elton B. Albert Einstein

C. Mendel D. Linnaeus

dtel ol @ STet Srerfies STWIRRTSAl | @1 8T HISH ol A fohan whaerd sftar 9 H

FEAdT R 9
3. 20% . 50%
q.10% 2. 40%

What percentage of consumed food is converted into approximately in the biomass

of primary consumers in plants?

A.20% B. 50%
C. 10% D. 40%

GreI | hrslf-Ioh Ul fore IfshaT o hoea®q sdT @ —

3, e . TRTIT ESINT
g, ScasH g, qiEEd

In plants, organic matter is produced as a result of which process?

A. Respiration B. Photosynthesis

C. Excretion D. Transportation
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fem worm < gfd KT (Fill in the blanks):

.............. el o STk wIshishteT 8 STem wfftreRt fwma § |

They play a vital role in the natural cycling of .............. elements.

arararer o Tt Sifh 37T SToiferes ekt o gl wne & ot e FEAT 2 |

The system composed of the complete integration of all environmental biotic and

abiotic components is referred to as ..............

ESIEEIESEERIE I EC | E A" FEA @ |

In any ecosystem, only 10% of energy is transferred from one trophic level to

another; this rule is called ..............

TR o 1 et T TETE L SR BT | |

In an ecosystem, the flow of energy is .............. in direction.

Sfera dsier ST (Match the following);

< o
| ated AiEER! SR IGEIS]
2 HAUEH -
3 Tl amer e iRt st § - 3
4 forg S0 Sl T A A 2 | - 3EH
5 u - Sffamy, e
A B
1 Apex Carnivore - Food Web
2 decomposer - sun
3 Forms different food chains - Lion
4 is the basic source of all energy in the world. - productive
5 Plants — Bacteria, Fungi
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2 37 9T 927 (2 mark questions):

10

foreft arfeferfores oo & sToereshi ot @ sifireRT &1l & 2
What is the role of decomposers in an ecosystem?

urffeerferer o T 27 FH TICeRT I SR Hitd fafew |

What is an ecosystem? Write its components with examples.

QT el Ue e STed § 218 &1 St et |

Write down two differences between a food chain and a food web.

TSI 1 &I & ST o RIS &l SR TSy |

Describe two methods to avoid the environment from harm.

T BT At forelt weh uieR T o At Sfiat s ww fear S 2

What will happen if all organisms at a particular trophic level are eliminated?
ToRelT @y ST H 9T TR ol fofe |

Write about a trophic level in a food chain.

TH 5T 3 I St 1 forehfie SRt =Ry 2

Why should we develop a garden near our home?

T R AfG gl T Eial o 9 H shael AHd SR FHEd = & 18 ST 2

What would happen if only humans and plants were left as living beings on Earth?

T T TATSROT T ¥ G L EHhd & 2

How can we protect our environment?

foreft oft Sreftar rfefbertaren = (w7t dretar ) o foret weh e e a1 forewor iy

Provide a description of any one trophic level in an aquatic ecosystem (sea, river,

pond).
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